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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dJwutiwghwnipniup dpgnipwihu ns Ungnipwiht widSwp{wn eYnu | yéwpnyh | Jupdp
ro ii ‘Umm. us hwq. n
01 (Gpbwup wEmwlywu hwdwuwpwu 344 | 39 3046
001 [Uwpbdwuwnhlw U(q) b(q) Ywd da@* [ 19 2 50 400
Uugy(q)
002 |Utfuwuhlw U(g) Ywd [d(q)** Yud <a(q)* 7 1 15 400
$(q) U(q)™
003 [Uhywnniwpwlwu b $huwtuwlwu dwebdwinhlw U(q) <la(q) Own|(q) S 1 120 500
004 |pudnpdwnhlyw U Yppwnwlwt dwpbdwnhlyw U(q) S(g) Ywd La(g)* | 32 3 160 500
Uugy(q)
005 [Uwpebdwwnhlyw: <wdwlwnpgswihtu ghunniyeniutubn U(g) S(g) Ywd |g(aq)* 12 1 35 500
Uugy(q)
006 [bhghyw b(q) Ywd |U(gq)* Ywd al@)* | 22 2 55 400
U(q) d(q)™
007 [Uhontywyihu nGwywnnputiph $hghyw b(q) Ywd |U(gq)* Ywd <ag(q)*| 20 2 10 400
U(q) d(q)™
008 |Ntwnhndhghlw U EGYnpnupyw S(g) Ywd |U(q)** Ywd Lg(o)* | 20 2 40 400
U(q) d(q)™
009 [Mhuwhwnnpnhsubph $hghyw W dhypnkGYwnpnupyw S(g) Ywd |U(q)** Ywd <g(aq)* 7 1 14 400
U(q) ()™
010 [Kbnwhwnnpnwygnyeniu b wgnwuowuutph dowynid S(g) Ywd |U(q)** Yud <g(aq)* 3 17 400
U(q) b(q)™
011 hdhw £(q) Y(g)** Ywd g(q)* 11 1 30 400
b(a)™
012 |Henwghwnieniu £(q) YU(q) Ywd a(q)* 6 1 60 500
S(q)
013 [MbGuuwpwunieinLu Ug)  [R(g)** Yud <a(q)* 7 1 46 400
(g)™




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
01 (Gpbwup wEnmwlywu hwdwuwpwu 344 | 39 3046
014 [MbGuuwdhghlw Yg) ()™ Yuu {a(q)* 7 1 33 400
()™
015 [Ybuuwphdhw Yg)  [£(g)™ Yuud {a(q)* 4 36 400
b(g)™
016 [Gpypwpwunipntu U(g) Ywd [d(q)* Yuwd {a(q)* 7 1 50 400
$(q) Ufq)™
017 Ugfuwphwagpniejniu U(qg) U(q)** a(q)* 7 1 60 400
018 [Pwpubquapnieniu b unwuwpwihtu gnpd U(qg) U(g)** <|g(a)* 2 35 400
019 [Utndhu U(g) wd [ <a(q) Owy(qg) 2 1 125 500
<dM(g)
020 |Mwwndnieintu £4dM(g) [Ow(g) Ywd| <a(g) 8 1 75 400
£M(a)
021 Jowynipwpwunieintu <lg(q) Owy(q) {dM(q) 3 60 400
022 |{UpyLunwpwunipjniu {a(q) Owy(q) {dM(q) 5 1 50 400
023 FPwnwpwghwnnieintu {dM(q) {la(q) Owy(qg) 5 1 70 550
024 Uhowqgquwjhtu hwpwpbpnieiniuubp <dM(q) {g(q) Owi(q) 130 600
025 Kwupwjht Ywnwywpnid {dM(q) {la(q) Owy(qg) 3 1 70 600
026 |Sunbiuwghwnniejwl inbuniejntu U(g) <la(q) Owy(qg) 5 1 175 600
027 [“Ywnwywpnid U(g) {la(q) Owy(qg) 2 65 600
028 [®Phihunthwjnieniu <la(a) Ow|(q) <dM(g)*| 5 1 40 400
029 Kngbipwunipjniu {a(q) Owy(q) Y(g)** 5 1 60 500
030 [Kngbipwunieyniu (ML) {g9(q) Owi(q) U(g) 3
031 [Unghwjwlwu wofuwwnwup {a(q) Owy(q) U(g)* 3 60 500
032 |Unghninghw U(g) <la(q) Owy(q) 5 1 60 450




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
01 (Gpbwup wEnmwlywu hwdwuwpwu 344 | 39 3046
033 Kwyng |tignt b gpwlwunieniu {1g(p) {19(q) Ownyq)*| 18 2 15 400
Yuwd
<dM(q)*
034 Unghwjwywu dwulwydwpdnientu {9(q) Owi(q) U(q)* 2 40 400
035 |Lpwgpnipjniu {a(q) UU(q) PLU(p) 5 1 60 400
036 [Ltqupwuntpiniu b dhodpwyniewiht hwnnpnwlgnieniu, nnwiwg Ma(p) M(q) <|g9(q)* 5 31 400
[Giqnt
037 |Nnwwg Ggnt b gpwywunieintu Ma(p) M(q) <|1g9(q)* 9 1 47 400
038 [Laqwpwunieginiu b dhgdpwlynipwiht hwnnpnwygniejniu,wugitipbu|  Uugy(p) Uugi(a) {|g(q) 3 80 550
039 |Uugitipbu |Ggnt b gpwywunieyntu Uugy(p) Uugi(g) {19(q) 6 1 135 550
040 [bpwuubiptu |Ggnt b gpwywunieyntu bpi(p) Ywd|{dny(g) Yywd|  <g(g) 2 30 500
Utqy(p) | Utqgy(q)
041 [Ybpdwubpbu (Ggnt b gpwlwunip)niu J(p) Ywd | F(g) Ywd |  <g(g) 2 30 500
Utqy(p) | Utqgy(q)
042 huwwubipbu |Ggnt b gpwywunieyntu hU(p) ywd | PU(q) Ywd |  <g(q) 3 47 550
Utgy(p) | Utgy(g)
043 |huiw)tipbu |Ggnt b gpwywunieyntu hun(p) Ywd|{bw(q) Ywd | <q(q) 2 15 550
Utgy(p) | Utgy(g)
044 [[Fwpgiwuswlwu gnpd’ wugbptu W hwjbpbu (Ggniubip Uugy(p) Uug|(q) {g(g) 3 80 550
045 [[Fwpgiwuswlwu gnpd' gbpdwubptiu W hwjbpbu (Ggniubp Y(p) Y(q) {|g(q) 2 15 500
046 [[Fwpquwuswlwu gnpd’ pwubipbu b hwybiptu |Ggniubip bni(p) bni(q) {19(q) 2 15 500
047 Mnyywuwghunnieniu £4dM(g) [Ow(g) Ywd| <a(g) 5 1 60 400
£M(a)
048 |Upwpwghwnieniu {a(q) <dM(q) Owy(qg) 5 1 40 550
049 |hpwuwghwnipiniu {a(q) <dM(q) Owy(qg) 5 1 40 550
050 [[Gnippwghuinnieniu {1a(q) <dM(q) Owy(qg) 5 1 40 550




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n

01 |Gplwtp ywEwnwlwu hwiwpuwpwi 344 | 39 3046

051 [Ppwydwghwnnieniu <lg(q) <dM(q) Owy(qg) 130 800

052 Uunjwdwpwunieintu {1a(q) {dM(qg) Ow|(q)* 4 55 400

053 |GlybEntgwpwunienLu {1a(q) {dM(q) Ow|(q)* 4 35 400
Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n

02 [6M< houwuh dwutiwéynin 41 6 318

054 hudnpdwwnplw b Yppwnwlwt dwebdwnhlyw U(g) [D(g)** Ywd <g(aq)* 4 1 26 350

Utigy(q)™
055 |[Mwwndnieintu {dM(q) {9(q) Owy(qg) 4 1 40 300
Ywd CT(G)
056 Kngbipwunipjniu {a(q) Owy(q) Y(g)** 4 1 31 350
057 Kwjng [tgnt b gpwlwuntpintu <g(p) {1g(q) Owy(q)* 4 1 30 300
Yuwd
<dM(q)*

058 [Uugiiptu [Ggnt U gpwlwunipiniu Uugy(p) Uugi(g) {19(q) 4 30 380

059 [bpwuubiptu |Ggnt b gpwywunieyntu bni(p) bni(q) {1a(q) 3 15 350
060 [Mhpwnwlywu wpybuwn QU Qu Und <g(aq)* 3 1 20 300

061 [Sunbuwghwnipjwu wnbunieniu U(g) <la(q) Owy(qg) 5 1 45 400

062 Utpyhu {a(q) Owy(g) [ U(g) ywd 4 26 320

<dMN(q)
063 FRwpunbquagpnieiniu b jwnwuwnpwihtu gnpd U(g) Ywd [U(g)™ Yuud {a(q)* 3 30 300
Ulq) U(q)™
064 |thquiju(gbinwn) QU Qu Ynd <a(q)* 3 25 300




Owo- Pnthp, Cunniubjnpyw puunyeniutiipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dJwutiwghwnipniup dngnipwjhu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpdp
np ii ‘Umm. us hwq. n
03 [Cwjywumnmwuh wqqujht ynhnbuuhjuwt hwiwuwpwu 262 | 22 1420
(6puwuh Yppwhwdwihp)
065 |Phdpwlwl wnkjuuninghwubtph b puwwywhwywuwlywu 15 1 107
Gwpnwpwghwnipjuwu Swlninbn
YbUuwwnbfuuninghw U(g) Ywd [L(q)* Yuud <|a(a)* | Owny(q)* 4 20 402
$(q) d(g)™
Atnuwpynypniutubph mumbuwghwnnyentu bW junwywpnud U(g) ywd [L(q)*™* Ywd <1q(a)* [ Owny(q)* 28 522
(phupwwu wpnyniuwpbpniejwu 4jninnud) b(q) S(g)**
Cpowlw dhowdwiph wwounwwunyeniu(phdhwlwu U(g) ywd [L(q)*™* Ywd £|g(a)* [ Owny(q)* 2 20 402
wpnyniuwpbipnipniuntd) d(q) d(gq)**
Uuunwdebnpph wbuuninghw U(g) ywd [L(q)*™* Ywd <|q(a)* [ Owni(q)* 3 20 402
$(q) d(g)™
Phuhwlwu nbluuninghwubp U(g) ywd [L(q)*™* Ywd £|g(a)* [ Owni(q)* 6 1 19 402
$(q) (g)™
066 [Eubipqbwnhlujh $wyninbin 34 2 168
Uwnndwjhu GYunpwlwt Yujwuubp bW nbnwywjwupubn U(g) Ywd [d(gq)** Yuwd <a(q)*| Owni(q)* 7 18 420
$(q) U(q)™
ElGyunpwtubpgbnhlw U(g) Ywd [D(g)** Yud <|g(q)* [ Owny(q)* 7 1 43 420
$(q) U(q)™
Eutipquwprynituwytiwn inbfuuninghwubp b EubpgGunhluwywu U(g) Ywd [d(gq)** Yuwd <a(q)*| Owni(q)* 4 21 522
dbuboubupe d(q) U(q)™
Atnuwpynypniutubph mumbuwghwnnyentu bW junwywpnud U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 28 522
(Eutipgtwplwih 6jninnud) b(q) U(q)™
Cnpowlw dhowywinh wwonmwwunyeyniu (Eubipgbnhywih ninnud) | U(q) Ywd [D(g)** Ywd <19(q)*| Owny(q)* 2 22 402
$(q) U(q)™
REndwkutipgtinhlw U(g) Ywd [D(q)* Yuwd <|a(q)* | Owy(q)* 7 1 18 420
$(q) U(q)™
Stuuninghwlwu gnpdpupwgutiph (ywpngbuubiph) W wpunwnpnyywyl U(g) Yud |D(g)*™* Yud <1q(aq)* [ Owni(q)* 7 18 420
wywnndwwnwgnid (wwnndwjhu Eutipgbnplwih §jninnud) b(qg) U(q)**




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dJwutiwghwnipniup dngnipwjhu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpdp
ro ii ‘Umm. us hwq. n
03 [Cwjywumnmwuh wqqujht ynhnbuuhjuwt hwiwuwpwu 262 | 22 1420
(Gpuwuh Yppwhwdwihp)
067 [EiEYnpwwnbuuhjulyuu wynynbtn 17 2 56
EiGYwnpwwnbluupyw, fiEYwnpwdbuwuplyw b U(g) ywd [d(g)** Ywd Lag(a)*| Owny(q)* | 17 2 56 420
Eiywnpunbiutininghuwubn (q) U(g)*™
068 [UbLluwupyudbpbuwghnwlywu $wlyninbin 10 60
Yhpwnwlwu dafuwuhlw U(g) Ywd [d(q)** Yud <|a(a)* | Owny(q)* 4 20 420
$(q) U(q)™

<puwwnwpwlswlywu gnpd b wynihgpwbhw U(g) ywd [d(g)** Ywd <1q(a)* [ Owny(q)* 3 20 420
$(q) U(q)™

Uwnpwohuntgniu U(g) Ywd [S(q)** Yuwd <19(q)*| Owny(q)* 3 20 420
b(q) U(q)™

069 [Utipkuwphunipjwu  $wlniunbin 13 2 62
Atnuwpynypniutbph mumbuwghwnnyentu bW junwywpnud U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 28 522
(UbpGuwshuniejwu Gjninnud) d(q) U(q)**

Utiptiuwohuntpyniu U Ujnyebiph dowynid U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 7 1 17 402
$(q) U(q)™

Stifuuninghwlwu dbptuwutip W uwppwynpnudutip U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 6 1 17 402
$(q) U(q)™

070 |Spwuuwynpwwjhu hwdwYwpgbph $wynintn 10 2 143
Atnuwpynypniutbph mumbuwghwnnyentu bW junwywpnud U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 28 522
(npwluwnpunh §jninnu) b(q) U(q)™
Spwuuwnpuwihtu ninhubiph, dhongubinh oghuwpwpnientu, U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 7 1 68 420
Yuwnwywpnuw b npwug 2whwgnpdnid d(q) U(q)**

Pnfuwnpniutiph bW dwuwwwphwiht Gprubynyejwt yugqdwytipwyn] U(g) Ywd [D(g)** Ywd <19(q)*| Owny(q)* 3 1 47 420
L ywnwywpnwd b(qg) U(q)**




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
03 [Cwjywumnmwuh wqqujht ynhnbuuhjuwt hwiwuwpwu 262 | 22 1420
(Gpuwuh Yppwhwdwihp)

071 Nwnhnnbluuhujh b juwyh hwiwYuwpgbph $wlnynbn 24 3 103
Qtnuwnyniejniuutiph nmunbuwghwnnye)niu bW juwnwywnpnud (Yuwh U(q) S(g)** <1g9(q)* [ Owni(q)* 28 522
6jninnid)

Munhnunbiuthlu U Guy U | o) Qo |om@r| 24 | 3 75 450

072 [Ypptnubwnhliwjh Pwyninbin 50 2 200
Uywnndwunwgnd b junwywpnid U(g) b(q)** {g(q)* [ Owny(g)* 7 42 450
E1GYwnpnuw)ht wnbfuthlw U(g) b(q)** {g(q)* [ Own(q)* | 29 2 73 450
LUtuuwpdrywlw dwpinwpwaghwnniegntu U(q) S(g)** <1g9(q)* [ Owni(q)* 5 20 450
Yhuwhwnnpnhsutiph $hghlw L dhypnktyunpnupyw U(g) S(g)** <a(q)*| Owni(q)* 5 45 450
Quithwghwnie)ni, unwunwpuwgnud b ubipnmh$hlugned U(g) b(q)** <19(q)*| Owny(q)* 4 20 450

073 uppwnwwu dwpbdwwhlwsh b $hghluyh wynynbn 11 1 63
hubnpdwwnplw b Yppwnwlwt dwebdwunhlyw U(g) b(q)** <1q(a)* [ Owny(q)* 9 1 40 504
YUhpwnwwu dwebdwwnhlyw U $hghlw U(g) b(q)** £|g(a)* [ Owni(q)* 2 23 504

074 [endhyniebpwiht hwdwYwpgbph b hu$npdwwnhlwsh Swlynin bt 52 5 256
hubnpdwwnhlw b hwoynnuwu nbjuuhyw U(q) S(g)** {a(q)*| Owny(aq)*| 24 3 101 504
Atnuwpynypniutubph mumbuwghwnnyentu bW junwywpnud U(g) S(g)** <a(q)*| Owni(q)* 28 522
(nbintywwndwlwu wbkhuuninghwubiph Gjninnud)

Stintlwwnjwlwi wuyunwugnip)niu U(g) S(g)** g(q)* [ Owny(q)* | 12 1 65 504
StnGywwnywlwu nbluuninghwubp U(g) S(g)** {a(q)*| Owy(q)* | 16 1 62 504




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dJwutiwghwnipniup dngnipwjhu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpdp
np ii ‘Umm. us hwq. n
03 [Cwjywumnmwuh wqqujht ynhnbuuhjuwt hwiwuwpwu 262 | 22 1420
(6pluwuh Yppwhwdwihp)

075 [PCunbppwpwunipjuu b dtwnwinipghwih $wynyntn 19 2 83
Atnuwpynypniutbph mumbuwghwnnyentu bW junwywpnud U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 28 522
(lnuwdbunwinipghwih éjninnud) b(q) U(q)**

Ubtitnwnipghw U Uynypwghwnnie)niu U(g) Ywd [d(gq)** Yud <1g(a)* | Owy(q)* 8 1 17 402
$(q) U(q)™

Cpowlw dhowdwiph wwhwwunyeniu b puwlwt wwowpubiph U(g) ywd [d(g)** Ywd £|q(a)* [ Owni(q)* 3 22 402

wpryntuwybinn ogunwagnpdnud ((Gnuwdbwwinipghwih Gyninnid) b(q) U(q)*™

Ogunwlwn hwuwdnubiph htinwfunignud b dowlynwd U(g) Ywd [S(q)* Yuwd <|a(q)* | Owny(q)* 8 1 16 402
$(q) U(g)™

076 [Puogunwgnpddwl nunbiuwghwnieintu Ulg) [D(g)** Ywd <19(q)*| Owny(q)* 28 522

Owy(q)*

077 | Cwdwlwnagswihu ginwnpybunwlwi twfuwagdnid U(g) 96 Ywd <19(q)*| Owny(q)* 3 21 504

bla)™

078 |"Hhquwiju S Und ST {g(q)* [ Owny(qg)* 4 70 510




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutwghwnnip)niup dpgniewhu ng dpgnipuwiht jwudswn|wyn eynwd | yéwpndh | uipap
np ii ‘Umm. us hwgq. n
04 |KUMNK Gynudpnt Jwutiwéynin 27 3 138
079 [Qtnuwpynieyniuutiph inunbuwghwnnieginiu b unwywpnud (el U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 1 24 360
wpnyniuwpbipnipjw Gjninnid) b(q) U(q)**
080 [Stnblwuwnywlwu nbuuninghwubp U(g) b(q)** <|q(a)* [ Owni(q)* 5 1 20 360
081 Utiptuwphuntpyniu U ynyetiph dowynid U(g) Ywd [d(g)** Yuwd <19(q)*| Owny(q)* 3 1 17 300
$(g) U(q)™
082 [Chuwpwpnientu, 2huwpwpwywu hptiph U Yuwnnigywdpubinh U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 3 1 17 315
wpwmwnpniejniu (q) U(g)*™
083 [Pubnpdwunpyw b Yhpwnwwu dwpbdwnpyw U(g) b(q)** £|g(a)* [ Owny(q)* 4 16 360
084 |[Mpuwhwnnpnhsubph $hghlw W dhypnkEYnpnupyw U(g) b(q)** <1q(a)* [ Owny(q)* 4 16 360
085 [Stpuwnnp| U phlipl wpnyniuwpbpnejwu wpunwnpuuph twfuwgdnud | U(g) Ywd |D(g)** Yud <|q(a)* [ Owni(q)* 3 12 300
$(g) U(q)™
086 [Kwdwlwpgswihtu gbnwnytunwlwu bwuwagdnid U(g) Q6 Ywd £|g(a)* [ Owny(q)* 4 16 360
b(q)™




Owé- Pnthp, Cunniubjnpyw puunyeniutiipp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dJwutiwghwnipniup dpgnipwihu ng Ungnipwiht widSwp{wn eynu | Jéwpnyh | updp
np ii ‘Umm. us hwq. n
05 |KUMNK Jwuwdnph dwutiwéjnin 27 3 113
087 |dtnuwpynupniuubinh inunbuwghunnieniu b U(g) Ywd [d(q)* Yuwd <|a(q)* | Owny(q)* 2 23 360
Yuwnwywpnu(dbpbuwshuniejwu djninnud) d(q) U(q)**
088 |[Pnfuwnpnuiutiph b dwuwwwphwjhtu GprUbynyeywu yugdwytipwyn] U(g) Ywd |D(g)** Ywd <19(q)*| Owny(q)* 3 12 300
U ywnwywpnid b(q) U(q)*™
089 [rubnpdwunpyw b hwoynnulwu inbluuhlw U(g) b(q)** <1q(a)* [ Owny(q)* 5 1 20 360
090 [Chuwpwnpnieintu, shtwpwpwywt hpbiph bW unnigwdpubiph U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 3 1 12 315
wpwmwnpniejniu (q) U(g)*™
091 [Oguwlwp hwuwdnubiph hGrwfunignid b dwynud U(g) Ywd [d(q)* Yuwd <|a(a)* | Owy(q)* 3 12 300
$(g) U(q)™
092 [UGwwnipghw U Ujnipwghuinnieintu U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 3 12 300
$(g) U(q)™
093 [UtipGuwshunieiniu U ujniebinh dowynwd U(g) Ywd [d(gq)** Yuwd <19(q)*| Owny(q)* 5 1 10 300
$(g) U(q)™
094 [Stpuwnh| b phlipl wpryntuwpbpniypjwu wpunwnpwwnbuwlubph U(g) Ywd [d(g)** Yuwd <19(q)*| Owny(q)* 3 12 300
inbifuuninghw b(q) U(q)™

10



Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutwghwnnip)niup dpgniewhu ng dpgnipuwiht jwudswn|wyn eynwd | yéwpndh | uipap
np ii ‘Umm. us hwgq. n
06 (UMK Ywwwup Jwutwéjnin 14 1 106
095 |Pudnpdwnhlyw U Yppwnwlwt dwpbdwnhlyw U(q) b(q)** £|g(a)* [ Owny(q)* 2 18 450
096 [Atnuwpynieinituutiph tnunbuwghunyeniu b U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 2 18 450
Yuwnwywpnu(Gnuwdbwnwnipghwlwu djninnud) d(q) U(q)**
097 [Stntywwndwlwu wnbfuuninghwubp U(g) b(q)** <|g(a)* [ Owny(q)* 2 18 450
098 [Ogqwuwlwp hwuwdnubph htnwlunignud b dowynud U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 3 17 390
$(q) U(q)™
099 [UGwnwnipghw U uniewghwnniegniu U(g) ywd [d(g)** Ywd <19(q)*| Owny(q)* 2 18 390
$(q) U(q)™
100 [Chuwpwpnieintu, 2htuwpwpwlwu hpbpph W Yunnigjwépubph U(g) ywd [d(g)** Ywd <1q(a)* [ Owny(q)* 3 1 17 390
wpunwnpnyinu $(q) Ufq)™

1




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dJwutiwghwnipniup dpgnipwihu ng Ungnipwiht widSwp{wn eynu | Jéwpnyh | updp
ng ii ‘Umm. us hwq. n
07 [Bwpunwpwwbwnipjuu b 2htwpwpnipjut wjwunmwh 79 7 1247
wqgqwiht hwdwjuwpwu
101 [Bwpnwpwybunnipjuu $wyninbn 13 1 110
Awpunwpwwbnnyeintu b nhquju Ly Q6 U(g)** a(q)* 13 1 110 660
102 [Hhquyuh Swynipunbn 13 1 160
“thquiyu QU Und <g(aq)* 12 1 110 480
<wdwlwpgswihtu gbnwpybunwlwu bwuwgdnid QU Und <g(aq)* 1 50 560
104 Chuwpwpnipjut wynynbun 24 2 280
Ywnwuwnp U Yhpwnwlwu gbnnbghw U(g) d(q)** a(q)* 3 45 520
Chiupbiph bwfuwagdnid U(g) b(q)** <g(a)* 3 45 590
Chuwpwnnuejniu, ghuwpwpwlwu hpbpp bW unnigwdpubiph U(q) S(g)** <1g9(q)* 10 1 100 590
wnunwnpnenLu
2nwihtu hwdwlwpgbiph 2htwpwpneyniu b gwhwagnpdnid U(g) b(q)** <g(aq)* 4 40 590
Spwuuwnpuwihtu ninhubiph, dhongubinh ghuwpwnpnientu, U(q) S(g)** <1g9(q)* 4 1 50 590
Yuwnwywpnuw b npwug 2whwgnpdnid
105 [Kwynnulwt wnbluupluih b junwjwpdwi Swlnynbn 14 2 118
hubnpdwwnhlw b hwoynnuwu nbjuuhyw U(q) S(g)** a(q)* 9 1 68 480
Ywnwywpdwl nbntlwunjwlywu hwdwlwpgbn U(g) b(q)** <|1g9(q)* 5 1 50 500

12



Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
07 [Bwpunwpwwbwnipjuu b 2htwpwpnipjut wjwunmwh 79 7 1247
wqgqwiht hwdwjuwpwu
106 HRPwnwpwjhtu mumbunipjut upwywnnigjuépubph b 13 1 245
wmpwuuynpnwiht hwdwlwpgbph $wyniynbn
Uuswnd gnyph thnpdwptunieiniu b junwywpnid U(g) d(q)** a(q)* 3 45 520
Uuyunwugnieiniut wpnmwlwng hpwyphtwlyubipnud U(g) b(q)** |g(aq)* 1 35 580
Puwwwhwywuwlwu thnpdwplunye)niu U(g) d(q)** a(q)* 35 520
Cpowlw dhowdwiph wwhwwunyeniu b puwlwt wwowpubiph U(g) S(g)** a(q)* 1 35 520
wnryntuwybinn oginwgnpdnid (puwn Gjninkiph)
Pnfuwnpniutiph b dwuwwwphwjhtu Gprubynyejwu Yugdwytpyn  U(q) b(q)** <|19(q)* 4 50 450
L ywnwywpnid
Pwnwpwjihtu munbunientu b 9bpdwguqudwnwlwpwpnud U(g) b(q)** <g(aq)* 4 1 45 590
107 [Sunbuwqghwnnipyuu b hwjwwywhwjwu hwjundwu 150
Pwlnipintin
Ruogunwagnpddwu nunbuwghwnniegntu U(g) S(g)** <g(aq)* 30 520
Cwoquwwhwywu hwajwnnud (huwpwpnigjwt dninnid) U(g) b(q)** <|g9(q)* 30 520
Atnuwpynypniutbph mumbuwghwnnyentu bW junwywpnud U(g) d(q)** a(q)* 30 520
(2huwpwpnypjwu Gjninnud)
Atnuwpynypniutbph mumbuwghwnnyentu bW junwywpnud U(g) d(q)** a(q)* 30 520
(npwluwnpunh Gjnnnud)
Atnuwpynypniutubph mumbuwghwnnyentu bW junwywpnud U(g) d(q)** a(q)* 30 520

(pwnwpwjhtu muwnbuniejwy, puwlwpwuwihtu W Yndniuw)
Swnwjnigjwl Gjninnid)

103 [3binbtghy wpybuwn QU Und g(a)* 50 560

108 |[Fwpgdwuswlwu gnpd (nbluthywlwu pwpgdwuniyeynit) wugtpbul  <jg(q) | Uugyq)™ 57 450
b hwjbpbu Ywd U(g)*™

109 [[Gwpgiwuswywu gnpd (nbuuhjwlwu pwpgdwunieinit) nnwbpbu | <g(q)  [MH(g)** Ywd 57 450
b hwjbpbu U(g)*™

13



Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
07 [Bwpunwpwwbwnipjuu b 2htwpwpnipjut wjwunmwh 79 7 1247
wqgqwiht hwdwjuwpwu
110 Utpyhu {19(q) Uuqy(q)** 2 20 450
liwd MHg(q)*
Yud U(g)™

14



Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
08 |[Cwjwuwnwup yEnwlwt munbuwghnwwu hwiwuwpwu 70 9 866
111 [Sunbuwghwnniejwl inbuniejntu U(g) {la(q) Owy(qg) 2 1 23 500
112 Mwnwywpnd (wyn pynd’ wbwnwlwu b dniuhghwyw) Ywnwywpnid, U(g) {1g(q) Owy(g) S 1 123 600
gpnuwoponiejwt Yunwywpnuw, hwwiquwdwdwihu funwdwpnud)
113 [Dhuwuuubp (wyn pYnd’ dwpuwhtu gnpd, wndbpnebiph onywh U(g) {g(q) Ow|(g) 5 1 143 600
yLpindnieyniu b unwdwpnud, pwulwihu gnnd)
114 [Sphuwuuttp (ML) U(q) {9(q) Owi(q) 3
115 [undbpghw (wjn pYnwd' phqubiup Yuqdwybpwnid) U(g) {g9(q) Ow|(g) 4 1 46 500
116 [dhbwlwgnpnieintu U(g) <la(q) Owy(qg) 4 25 500
117 [Qtnuwpynigyniutitiph inunbuwghunnigyniu bW unwywnpnud (puwn U(g) <la(q) Owy(qg) 3 1 36 500
inintiph)
118 [Uhowqquiht tnunbuwlwu hwpwpbpniginiuttin U(g) {1a(q) Owy(qg) 4 46 550
119 [Uwypninunbuwlywt pwnwpwywunyein b juwufuwwnbunid U(g) {la(q) Owy(qg) 3 36 500
120 |Ugluwwnwuph nnunbuwghwnnipiniu U(g) {la(q) Owy(qg) 2 1 23 500
121 [Puogunwagnpddwl intuinbiuwghwnnieintu U(g) <la(q) Owy(q) 3 25 500
122 Wwpbtdwwnhljwlywu dnnbjutp b dnnbjubpp nmunbuwghunnyeywu dbg|  U(qg) {g(q) Ow|(g) 4 1 36 500
123 Knnwagnypwjhtu hwpwpbipnyejniuutin U(g) <la(q) Owy(q) 3 25 500
124 Mwnwywpdwt nbnGyuwnjwlwu hwdwlwnpgbn U(q) {la(q) Owy(qg) 3 1 37 500
125 Uwwhnjwgpwlwu gnpd U(q) {la(q) Owy(q) 4 46 550
126 [Kwoywwwhwwu hwoqwnnid (puwn §ninkiph) (wjn pYnid’ wnwhun, U(g) <lg(q) Owy(q) 5 1 14 550
inUnbuwghunwlwu Jbpindnie)niu)
127 Kwoywwwhwlwu hwoywnnud (puwn Gyninbipp) (ML) U(g) {g(q) Owi(q) 7
128 |Uwpwupwaghwnnieinit b wwpwupubinh npwyh U(g) {la(q) Owy(q) 2 36 500
thnpdwpuunteniu(wn pYnut* wwpbuwihu wwpwupubiph
wwpwupwghwnyentt b wwpwupubph npwyh thnpdwplunientu, ny
wwpbuwht wwpwupubph wwypwupwghwnnieniu bW wwpwupubiph
npwyh thnpdwpuunieiniu)

15



uwn.
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Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
08 |[Cwjwuwnwup yEnwlwt munbuwghnwwu hwiwuwpwu 70 9 866
129 [Cniljwjwpwunipiniu (dwppbightg) U(q) {la(q) Owy(qg) 4 46 550
Owd- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbtin/wyn pynudl nrudw
Yugh L\'wuhwqhmmpjm'un dnpgnipwjhu ng dpgntpwiht jwudwp| win pYnw | béwpnyh I{wpan

hwq. n

inUnbuwghunwlwu Jbpindnie)niu)

09 |[KMSL Gynudpnt wutiwéynin 7 1 158
130 [Mwnwywpnid (wyn pynwd’ whnmwlwu b dniuhghww) Ywnwywnpnid, U(g) {1g(q) Owy(q) 28 400
gpnuwoponiejwt junwywpnuw, hwwiquwdwdwihu funwjwpnid)
131 [Shuwuuubp (wyn pYnd’ dwpuwhtu gnpd, wndbpnebph onywh U(g) {1g(q) Owy(g) 2 1 33 400
Ytipinwdnipynit b jwnwywpnud, pwulwihu gnnpd)
132 [undbpghw (wyn pYnd' phqubup Yuqdwytipwnid) U(g) {1g(q) Owy(g) 1 34 360
133 [Uhowqgqwiht nnunbuwlwu hwpwpbipnieniutbn U(g) {la(q) Owy(q) 1 29 380
134 [Kwpqwwwhwlwu hwagwnnw (puwn §inintiph) (wjn pynd* wnwhun, U(g) {la(q) Owy(qg) 1 34 380
inunbiuwghunwywu Ybpindnipniu)
Owé- Pnthp, Cunniubijnyejwu puunyeyniuutipp Cunniubnipywt wkn/wn pynud niudw
Yugh dwutwqhwnipjniup dpgntewihu ng Ungniewiht jwudbwp(wn pYnw | Jéwpnyh | updp
rp ii ‘Umm. us hwq. n
10 |KMSL bnhquwanph dwutwéjnin 3 60
135 [Hwnwywpnid (wyn pyYnwd* whnwYwu b dntuhghww| Yunwdwpnid, U(g) {1g(q) Owy(g) 1 20 350
gpnuwoponiejwt Yunwywpnuwd, hwwiquwdwdwihu Yunwjwpnid)
136 [Shuwuuubp (wyn pYnw’ dwpuwihtu gnpd, wpdtipnebiph 2ntywih U(g) {1g(q) Owy(q) 1 20 350
Ytipinwdnipynit b jwnwywpnud, pwulwihu gnnpd)
137 [Kwodwwwhwlwu hwaqwnnid (puwn §ninbnph) (wyn pYntd” wnwhun, U(g) {1g(q) Owy(g) 1 20 325

16




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwgq. n
11 . Upndjuup wiudwt hwjjuwlwt yEnwlwt dJwuyujwpdulw 95 10| 8 1589
hwiwjuwpw
138 [Uwpbdwunhlw U(g) Ywd [d(q)** Yud {a(q)* 3 1 1 50 260
$(q) Ufq)™
139 [bhghyw U(g) Ywd [d(q)** Yud {a(q)* 2 1 23 260
$(q) Ufq)™
140 {hdhw £(q) U(g)** Yud g(aq)* 2 1 18 260
b(q)™
141 [MGUUWpWUNYE)NLU Ua) [|R(g)** Ywd |g(aq)* 3 1 1 32 260
()™
142 (Ugfuwphwgpnipjniu U(qg) U(q)** <19(q)* 3 1 1 35 270
143 |[EYyninghwywu phdhw L(q) ywd | D(g)** |g(aq)* 1 21 260
H(q)
144 |Mwwndnieniu <4dM(g) [Ow(g) Ywd <a(q)* 5 1 1 85 315
£M(a)
145 |Ppwywghwnnieiniu <dMN(g) [Owi(g) Ywd a(q)* 2 60 585
£M(a)
146 [Lpwapnieintt (hnnuwnwpuagpnieintu) L <LSM {g(q) 1 25 340
147 [Lpwagpnieniu (nwnhnipugnpniejni) NL< NLSM {|g(q) 1 15 340
148 [Kwyng |tiqnt b gpwlwuniegniu <g(p) {1g(q) Owy(q)* 3 1 70 270
Yuwd
<dM(q)*
149 |Uugitipbu |Ggnt b gpwywunieiniu Uugy(p) Uugi(g) {a(q)* 2 73 445
150 [Qtpdwubiptiu (tgnt b gpwlwunientu X(p) Y(q) {1g(q)* 1 14 410
151 [Spwuubiptiu |Ggnt bW gpwlwunte)niu dni(p) dni(q) <|1g9(q)* 1 14 410
152 huwwubipbu |Ggnt b gpwywunieyntu Owy(p) Owy(q) <a(q)* 1 29 410
153 [Uwlnipwpwuntpiniu {dM(q) {19(q) Owy(q)* 2 28 320
Ywd CN(q)
154 [Mtnwwg (Ggnt b gpwlwunieyntu Ma(p) Mi(q) <|g(a)* 2 1 40 270
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n

11 . Upndjuup wiudwt hwjjuwlwt yEnwlwt dJwuyujwpdulw 95 10| 8 1589
hwiwjuwpw

155 [Unghwjwlwu wofuwwnwup <lg(q) Owy(q) U(g)* 2 30 330

156 [hubnpdwinhlw U(g) Ywd [d(q)** Yud {a(q)* 3 1 35 320

$(g) U(q)™
157 Ruwghwnieiniu U(g) Ywd |Y(g)** Ywd <g(aq)* 2 20 260
4(@) U(g)™
158 [Stfuuninghw b dGnuwpysnie)niu {g(q) U(g)** b(q)* 3 1 1 30 305
159 [Gpwdynwwu Ypeniegintu 6SU(g,p) | LBUY L <g(aq)* 2 35 380
ting

160 [4bpwwpybuwnn L gdwgpnieiniu QU Qu <|g(a)* 3 1 60 390

161 [Uwuywywndnieginiu b hngbpwunieiniu {1a(q) Owy(q) Y(q)** 2 1 70 375

162 [Uwulywywnpdnyeiniu b hngbipwuniejniu(Uwfuwnwpngulw) {g9(q) Owy(q) Y(q)** 2 45 330

163 [Rhuynpwlwt dwulwywndnipniu b hngbipwuntegintu {g9(q) Owi(q) U(q)* 20 325

164 [Uwulywywnpdnieiniu b deennhlw (nwppwlwi Ypenyejw) {g(q) U(g)*™ 2 60 445

165 Jwuywywpdnipiniu b dbpnnhlw (nwppwlwi Ypenyegjut, nnuwg M(q) U(g)** <|1g9(q)* 1 9 410
(iquph nwnigdwdp)

166 Jwuywywpdnipiniu b dbpnnhlw (Uwfuwnwpnguwlwu Ynpeniejw) {g(q) Owy(q) 2 20 355

167 |Unghwjwlwu dJwulwywpdnientu a(q) [U(g)** Ywd 2 35 330

Owy(q)*

168 [Kwuwnnwy Ypenipjwiu dwulwywndnieiniu b hngbpwunientu {g9(q) YU(g)** 1 23 270
(Shndwuljwywndnipjniu)

169 [Kwwnnwy Yppenypjwt dwulwywndnieiniu b hngbpwunientu {g9(q) YU(g)** 1 23 270
(Untpnndwuywywnpdnip)niu)

170 Kwuwnty Yppnipjwu dwulwywpdniginiu b hngbpwunye)niu {g9(q) YU(g)** 1 23 270
(O1hgn$pbundwiuwywpdnype)niu)

171 Kwuwniy Yppnypjwt dwiuwywpdniginit W hngbpwunye)niu {g9(q) YU(g)** 2 45 325
(Lngnwtinhw)

18



Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
11 . Upndjuup wiudwt hwjjuwlwt yEnwlwt dJwuyujwpdulw 95 10| 8 1589
hwiwjuwpw
172 Kwuwniy Yppniejwt dwuyuywpdnyeniu W hngbpwunieiniu (wwnty — <(g(q) Y(q)*™ 2 35 325
hngbGpwunipe)niu)
173 [Kwwinty Yppenyepjwt dwulwdwndnieiniu b hnglipwuntegyntu {g(q) YU(g)** Uugy(g)| 1 12 270
(Engnpbtpwwhw)
174 [Kwwinty Yppenipjut dwulwdwnpdnieiniu b {9(q) YU(g)** 1 16 270
hngbGpwunienu(Lwluwnwpngwywu)
175 (Uwulwywndnipniu b unghninghw {g(q) Owy(q) U(q)* 2 38 355
176 |tadhunipw (Jwuuwjwlwu hwunhunyeniuutiph ntidhunipw) ] Nbd <|g9(q)* 1 16 380
177 [Hadhunipw (htinnwunwdhdbph W hnnwwnwdpwagpbiph ntidhunipw) ] Nbd <|1g9(q)* 2 15 380
178 |Mwpwpybtiun (dnnnypnwlwi b nwuwlywu wwpbp, dwdwuwlwyhgl TFwwp <d Ywd <|1g9(q)* 2 30 380
wwpwhwunbuwihu wwnbn) dMuU wuwp
179 |Mppwnwlwtu wpybuwmn QU Und <g(aq)* 1 35 390
180 |Gpwnwpwuwihu-inbnGywwndwywu wnpniputp {g(q) Ow|(g) <dM(q)| 2 20 265
181 |[Unghw-dawynipwihtu gnpdniubinyeinit (Ruwugwpwuwhu gnpd L {1g(q) Owy(q) <dM(g)*| 2 23 265
hnywpdwulbph wwhwwunieintu)
182 {Unghw-dawlynypwiht gnpdntubiniginiu (thnnwjhtu U bunpwnuwiht USHp) UGS(p) {1g(q)* 2 13 260
ujwqwiudph nYwywpnid)
183 Unghw-dowynypwjhu gnpéniubinieiniu (dnngnpdhpubtinh USHp) UGS(p) <|1g9(q)* 2 13 260
ujwagwiudpbiph nlwywpnid)
184 |Unghw-dowynypwjhu gnpdniutinyeinit (qtinwpybunwywu SLL(p) U<(p) <1g(a)* 2 1 15 385
[nLuwbljwnsnijniu)
185 [Unghwi-dawynypwjhu gnpdniutinieinit (owGpwinnpnig)niu) 0ML(p) U<(p) <g(aq)* 2 15 385
186 |{Unghw-dowlynypwihu gnpdniubingeyniu (Yunwdwpnd' deubodbupe) [UUSN(g.p.)] UM(p) <g(aq)* 3 25 385
187 [Ybpwwnybunp wywwndnieinit W inbuniejniu CUM(p) US(q) <g(aq)* 2 23 325
188 [Kwgnwunp dnnbjwynpnid QU Und <|g(a)* 30 395
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Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnyejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu

ns dpgntewjhu

wuybwp

wyn. pynud

Yéwpnyh

Jwpép

np ii ‘me, us hwq. n

12 [Gpbwup 4. Ppyniunygp wudwu yEnmwlywu Equpwuwlwu 45 4 4 1020
hwiwjuwpw
189 |LEqywpwunipejniu, wugtiptu |Ggnt Uug(p) Uug(g) {19(q) 10 2 1 58 400
190 |LEqwpwunipiniu, $pwuubintiu tgnt bpi(p) Ywd|{dny(g) Yywd|  <g(g) 1 15 400
Utg|(p) | Uug|(q)
191 [LEqwpwunye)niu, gbpdwubipbu |Ggnt Y(p) Ywd | F(q) ywd | <g(g) 1 15 400
Uugy(p) | Uugi(q)
192 |Leqwpwunieniu, hinwitiptu (kgnt Owy(p) Owy(q) {19(q) 1 36 400
193 |Lbqwpwunip)niu, nnuwg |kgnt Ma(p) M(q) {1g(q)* 2 16 400
194 |Leqwpwunieiniu b dhodowyniypwiht hwnnpnwygnieiniu,wugtpbu|  Uug(p) Uuqg(q) {g(g) 9 1 144 400
[Giqnt
195 [Lqwpwunyeyniu b dhodowyniypwhu Y(p) Ywd | F(q) ywd | <a(g) 1 29 400
hwnnpnwygnugnit,gtipdwtinti |ignt Uug)(p) | Uuqy(q)
196 [Lbgwpwunieintu b dhodowlnipw)hu bpi(p) Ywd|{dny(g) ywd|  <g(q) 1 29 400
hwnnpnwlgnig)ntl, Spwitiubipbiu tignt Uugy(p) | Uuqi(q)
197 |Lbqwpwuntpiniu b dhodawynipwiht hwnnpnwlgnieniu,nniuwg Ma(p) M(q) {1g(q)* 1 53 400
[Giqnt
198 |Owwp Lgnt b gpwlwunteniu, wugtiptu |Ggnt Uugy(p) Uugy(a) {|g(q) 5 1 1 169 400
199 [Ownwnp [Ggnt b gpwlwunye)niu, gbpdwubipbu |Ggnt Y(p) Ywd | F(q) ywd | <g(g) 2 1 28 400
Uugy(p) | Uugi(q)
200 [Owwn (bgnt b gpwwuniegyniu, $pwuubipbu |Ggne bpi(p) Ywd|{dny(g) ywd|  <g(g) 2 1 28 400
Uugy(p) | Uugi(q)
201 [Fwpgdwuswlwu gnpd’ wugbpbu W hwybpbu |Ggniubp Uugy(p) Uug|(q) {g(g) 3 84 400
202 [[Fwpguwuswlwu gnpd' nnwbipbu, wugpbu W hwjbpbu Ggniubp M(q) Uugy(a) {|g(q) 2 43 400
203 [Fwpguiwlswywu gnpd’ pwuubpbu b hwybipbu Ggniubp dni(p) Ywd|dp(g) Ywd|  <a(q) 1 14 400
Utg|(p) | Uug|(q)
204 [Qwpgiwuswlwu gnpd’ gbipdwubpbu b hwybpbu (Ggniubp S(p) Ywd | F(g) Ywd |  <a(q) 1 14 400
Utg|(p) | Uug|(q)
205 [Qwpgdwlswlwu gnpd’ hunwibipbu W hwjbpbu Ggniubp Owy(p) Owy(q) {g(g) 5 400
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwgq. n
12 [Gpbwup 4. Ppyniunygp wudwu yEnmwlywu Equpwuwlwu 45 4 4 1020

hwiwjuwpw
206 |[Fwpquwuswlwu gnpd’ shuwpbu W hwybipbu (Ggniutbip Owy(p) Own|(q) {1a(q) 10 400
207 [[Fwpgiwuswlwu gnpd’ huywubpbu b hwjbpbu |Ggniubp Owj(p) Owi(q) {g(g) 5 400
208 |[Fwpgdwuswlwu gnpd' Ynpbbpbu b hwjbpbu |Ggniubp Owj(p) Owi(q) {g(g) 5 400
209 |MNnwwg |gnt b gpwywunieiniu Ma(p) M(q) {1g(q)* 2 48 400
210 FPwnwpwghwnipintu <dM(q) {1a(q) Owy(qg) 50 400
211 |Lpwgpnyp)ntu {g9(q) UlU(q) RLU(p) 30 400
212 Ubpyhu U(g) wd [ <a(q) Owy(qg) 92 400
<dM(q)
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
13 |Gynuipn U. Lwppwiunwuh wujw ywEwnmwYw 71 7 9 580
dwulwywpdwlw huunhwnnin
213 Jwpbtdwwhyw U(q) b(q)** {a(q)* 2 1 18 230
214 pudnpdwwnhlw b Yppwnwlwt dwebdwnhlyw U(q) b(q)** <g(a)* 3 18 300
215 |Shghlyw d(q) U(g)** |g(aq)* 2 1 18 230
216 hdhw L(q) [U(g)™ juud {a(q)* 2 1 10 250
bla)™
217 MBUUwpwUnLe)nLu Ua) [|R(g)** Ywd <|g(a)* 2 1 15 250
bla)™
218 |Ugtuwphwagpnyp)niu U(qg) U(q)** a(q)* 2 1 15 250
219 FRwpunbquagpnieiniu b junwuwmpwihtu gnpd U(qg) U(q)** a(q)* 2 20 300
220 Puwwwhwwunieiniu b puognwgnpdnid L(q) Ywd |  D(g)** <a(q)* 2 15 250
4(@)
221 YEnwagnpdwlwu phdhw L(q) [Y(g)"™* Ywd <g(aq)* 3 16 350
d(g)™
222 [Mwwndnieyntu <4dMN(g) [Owi(g) Ywd {g(q)* 4 1 1 21 300
£M(a)
223 [Ppwywghwnnieniu <dM(g) [Owi(g) Ywd a(q)* 3 1 21 350
£M(a)
224 Lpwgpnye)ntu {a(g) UU(q) RLU(p) 1 14 300
225 |Kwyng |Ggnt b gpwywunieyntu <g(p) {1g(q) Owy(q)* 4 1 21 300
Yuwd
<dMN(q)*
226 |Uuqitinptiu |Ggnt b gpulwunieniu Uugy(p) Uug(g) <a(q)* 6 1 1 44 350
227 [Qtpdwubiptu (Ggne b gpulwunugniu S(p) Y(q) <a(q)* 8 300
228 |dpwuubiptiu |tignt b gpulwuniegniu bni(p) bni(g) <a(q)* 2 8 350
229 (bhghywywu Ynyunnipw b uwynpun LDHM Uud <|g(a)* 6 1 1 25 300
230 |[Fwpgdwuswlwu gnpd* wugtipbu W hwybpbu Uugy(p) Uug|(q) {g(g) 10 350
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Dwé- Pnthp, Cunniubiniypjwi puunipyniuttipp Cunmubinipjwt nbn/wyn pYnid nwudwu

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwgq. n
13 |Gynuipn U. Lwppwiunwuh wujw ywEwnmwYw 71 7 9 580

dwulwywpdwlw huunhwnnin
231 [[Fwpguiwuswlwu gnpd’ wugtptu L nnwbpbu Miqg) Owi(q) <g(aq)* 10 350
232 [[Fwpgiwuswywu gnpd' pnippbptiu W hwjbpbu {g9(q) Owi(q) 10 350
233 |Mnwwg |Ggnt b gpwywunieyntu Ma(p) M(q) <19(q)* 2 1 18 300
234 {Unghwjwywl wouwwnwup <la(q) Ouwy(q)** U(q)* 2 23 250
235 [hubnpdwinhlw U(q) b(q)** {a(q)* 15 250
236 |[Lwfuwgnpwynswihtu b $hghlwlwt ywwnmpwuwnnyeniu Uwuu DM <g(a)* 10 1 40 300
237 |Skjuuninghw W dEnuwpysnientu U(g) b(q)** <|1g9(q)* 15 250
238 Kngbipwunipjniu {a(q) [Owi(g) Ywd 2 18 250
H(q)
239 [Uwulywywpdnieiniu b hnglipwuniegynit (bwfuwnwpngwlw) {1g(q) Owy(q) Y(g)** 10 250
240 [Uwuywywpdnieiniu b deennhlw (nwppwlwu Ypeniejw) {g(q) U(g)*™ 2 1 40 300
241 [Mppwnwlwu wpybuwn QU Und <g(aq)* 3 22 250
242 [Mwnwywpnud U(q) <lg(q) Owy(q) 2 22 350
243 {Utndhu U(g) wd [ <a(q) Owy(qg) 2 20 250
<dM(g)
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
14 [Jwtwanpp <. @nuiwuywuph wuduwt yEnwlwiu hwdwpuwpw 56 5 6 484
244 Uwpbtdwwnhlw U(g) b(q)** {a(q)* 4 1 1 21 350
245 [Yppwnwywu Jwpbdwwnhlw U $hghlw U(g) b(q)** <g(aq)* 4 1 21 350
246 |MGUUwWpwWUNLRINLU Ua) [|R(g)** wd <|g(a)* 5 1 1 26 350
b(q)™
247 [Yenwgnpdwlwu phdhw L(q) [Y(g)"™* Yud |g(aq)* 3 22 350
b(q)™
248 |Mwwndnieintu <dM(g) [Ow(g) Ywd {a(q)* 4 1 37 350
£M(a)
249 hpwywghwnnientu {dMN(q) [Owi(gq) Ywd| <a(q) 27 600
£M(a)
250 Kwyng (tignt b gpulwunieniu {1a(p) {9(q) Ow|(q)* 4 1 26 350
Yud
<dM(q)*
251 |Uugitiptu |Ggnt b gpwwunieiniu Uugy(p) Uugi(g) {a(q)* 3 47 400
252 |Mnwwg |Ggnt b gpwwuntentu Ma(p) Mi(q) <g(aq)* 3 1 27 350
253 [[Gwnguwuswlywu gnnpd Uugy(p) Uugi(g) {1a(q) 20 350
254 [hubnpdwwnplw b Yhpwnwwt dwebdwnhlw U(q) S(g) Ywd <g(aq)* 4 1 21 350
Uugy(q)
255 Kngbipwunipjniu {a(q) [Owi(g) Ywd 5 1 21 350
H(g)
256 [Uwulwywpdnieiniu b deennhlw (nwppwlwu Ypeniejw) {g(q) U(g)*™ 4 1 46 350
257 (Unghwjwlwtu dwuywywpdnyp)niu {g9(q) U(q)** 3 22 350
258 |Unghwjwlwu wafuwnwup {a(q) Owy(q) U(g)* 2 13 350
259 [Mwnwywnpnid U(g) <la(q) Owy(qg) 3 32 400
260 |Utipghu U(g) wd [ <a(q) Owy(q) 3 22 350
<dM(g)
261 |Lpwgpnyejniu {a(g) UU(q) RLU(p) 2 13 350
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Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutiwghwnipyniup dngnipwht ng Upgniewiht jwdswn| wn pUnw | Jéwpndh | Jupdp
pp ii “Umm. us hwq. n
14 [dwtuwanph L. @nudwiywuh wujwu yEnwywu hwdwjuwpw 56 5 6 484
262 [4bpwwpybuwnn L gdwagpnieiniu QU Qu |g(aq)* 20 350
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbtin/wyn pynudl nrudw
Yugh dwutiwghwnipyniup dngniewht ng Upgnipwiht widswp{wn eYnu | Jéwpnyh | Jupép
pp ii “Umm. us hwq. n
15 |6plwup Undhnwup wujwt yEnwlwu Ynuubpjwwmnphw 60 4 2 181
263 |9npdhpwihtu Ywwnwpnnulwuniginit (nwuwdnip, jwpwjht, oYy U(g) {(q) <a(q)* | 40 2 1 12 700
thnnwjhu W hwpqwdwjhu, dnnnypnwywu, tunpwnwihu-owquiht
qnpohputin)
264 |dnyw| wpybun (wywntdhwlwu, dnnnypnwlyw, oYy U(g) 5SS(q) <|g(a)* 8 1 1 49 800
Lunpwnwihu-owquihu Gpgbgnnnye)niu)
265 |Hhphdnpnyeniu (wlwnbdhwywu Gpgswfudph) oYy U(g) {(q) |g(aq)* 4 1 7 700
266 [4ndwnghghw o4 U(g) {(q) {a(q)* 3 6 700
267 [Gpwdonmwghwnnieiniu Uni(p) U(g) {(q) <|g(a)* 5 7 700
EHa)




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
16 |6MY Gynudpnt JwutiwGynin 10 1 32
268 [Fnpdhpwjht Yuwwmwpnnuwunientu (nwuwdnip, [wnwjhu, [o U(g) {(q) <|19(q)* 4 1 14 500
thnnwiht W hwpywdwihu, dnnnypnwlwtu gnpdhputin)
269 [4nfw| wpybuwn (whwnbdhwlwu, dnnnpnwlw, [o U(g) E6SS(q) <1g(a)* 4 14 500
Fuwnpwnwjhu-owqujhu Gpglignnnieintu)
270 thphdnpnieniu o4 U(g) <(q) a(@)* | 1 2 500
271 [Gpwdonwghwunye)niu Uni(p) U(g) {(q) <g(aq)* 1 2 500
EHa)
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
17 (6pbwup pwwpnup b Yhunjh yEwnmwlwu hpuunpwnnin 42 3 158
272 Mepwuwuwlywu wpdbun (npwd. pwwnpnup b Yhunjh nbpwuw) ] Pru <wpg <|19(q)* 14 1 46 600
273 [Nhdhunipw (npwd. pwwnpnuh ntdhunipw) d Ntd(qnpdu)| <wng <g(aq)* 6 10 600
274 [[Fwwnbpwaghwunyeniu uc <wng {g(g) 2 4 450
275 [4punwpybuwn (juwnwpluihu $hivph nbdhunipw, Juybpwgpwywu d Ntd(qnpdu)[ <wpg <g(a)* 7 1 44 600
bhidh nbdhunipw, hugniuwihu nkdhunipw, hinnwwwnbdhunipw)
276 |Owbipwwnnpnipiniu (Yhunowtipwwnnpnie)niu) Lu<(p) <wng <1g9(q)* 3 1 12 600
277 (Unghwi-dawyniewihu gnpdniubinyeniu (wpybunh Junwywnpnid) Uy <wpg <|g(a)* 2 10 600
278 [Gtinwulwpsnieniu (pwwnpnup b Yhunih Uwpsniejniu) Ly Und <wng <19(q)* 2 6 600
279 [Mwpwpybuwnh nbdhunipw Muwp pM |g(aq)* 2 10 600
280 [Yhunghwnieiniu uc <wng {g(g) 2 4 450
281 Kwdwlwngswihtu gbnwpybunmwlwi vwhuwagdnid Ly Und <wpg <g(aq)* 4 450
282 Qpwlwu unbndwagnpdnipiniu (ugbuwpwlwu uc <wng {9(g) 2 4 450
npwdwwinnipghwlwu hdnniejniuttip)
283 [Kwgntunh dnnbjwynpnud (Ubipywyjwgndutiph U $hidbph qgqbtiunutin) Ly Und <wpg <|g9(q)* 4 450
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Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
pp ii “Umm. us hwq. n
18 |6UMNbh Gynuipnt dwutwéjnin 8 32
284 [Hapwuwuwlwu wpybiun (npwd. pwnpnuh W Yhunih nbipwuw) ] Pru <wpg <|19(q)* 2 12 350
285 |MHadhunipw (npwd. pwwnpnup nkidhuntpw) d Ntd(qnpdu)| <wng <g(aq)* 2 3 350
286 [4hunwnytiuwn (hGnnwwnwnbdhunipw) M4 |NEd(gnpdu)|  <wpg {a(q)” 1 7 350
287 |Mwpwpybuwn Muwp pM <g(a)* 1 5 350
288 [Owbpwwnpnieintt (Yhunowbpwnnpnientu) Lu<(p) <wpg {1g(q)* 2 5 350
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntew)hu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
pp ii “Umm. us hwq. n
19 |6FUMNbh dwuwdnph dwutiwéjnin 6 1 30
289 [Hpwuwuwlwu wpybiun (npwd. pwnpnup W Yhunh nbipwuw) ] Pru <wpg {19(q)* 1 13 300
290 |NHadhunipw (npwd. pwwnpnup nkidhuntpw) d Ntd(qnpdu)| <wng <g(aq)* 1 5 300
291 |Mwpwpybun Muwp pM <g(aq)* 1 4 300
292 {Yhunwpybtiun (htinnwnwntidhunipw) M4 [ad(gnpdu)l  <wpg {a(@)* 1 4 300
293 |[9pwlwu untindwgnpdnyeniu (ugbuwpwywu b uc <wng {g(g) 1 4 300
npwdwwinnipghwlwu hdnniejniutip)
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbkin/wyn pynudl nrudw
Yugh Jwutiwghwnipjniup UngnLpWhl ng dpgnipwiht jwudswplwyn eynwd | Jéwpndh | wpap
pp ii “Umm. us hwq. n
20 |6fUuNh Gnphup Jwutiwénin 1 8
294 NBpwuwtwlywu wpdbun (npwd. pwwpnup bW Yhunih nbpwuwt) d Phu <wng <1g(a)* 1 8 300




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
21 [Gpbwup gnupybunp yEnmwlwiu wwntdhw 36 3 89
295 |Hhquiju QU Qu Und |g(aq)* 8 1 18 630
296 |“Mppwnwlwtu wpybuwmn QU Qu Und <g(aq)* 2 9 550
297 [Kwdwwpgswihu gbinupyGunwywu twfuwgdnid QU Qu Und <|g(a)* 5 1 16 650
298 |Abnwulwpsnientu QU Qu Und <g(a)* 5 1 8 550
299 Rwunwlwgnpdnieiniu QU £1 Und <g(a)* 4 5 550
300 [Fpwdhyw QU Qu Und |g(aq)* 4 8 550
301 [Mbpwwpybunp ywwndneiniu W nbuniejniu UMS(p) Y MN(q) <g(aq)* 3 5 400
302 [Kwgntunh dnnbijwynpnd QU Qu Und <|1g9(q)* 5 20 630
Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dJwutiwghwnipniup dpgnipwihu ny Ungniewiht jwudbwp(wn pYnw | Jéwpndh | updp
np ii ‘Umm. us hwq. n
22 |69NU Ynuipnt dwutwéynin 12 47
303 HFRwunwlwgnpdniejniu QU £1 Und <g(aq)* 2 4 350
304 9pwdhyw QU Qu Und <g(aq)* 2 6 350
305 [Kwgntuwnh dnnbuynpnud QU Qu Und <g(aq)* 2 10 350
306 [Hhquwiju QU Qu Und <g(aq)* 2 1 350
307 |[Mppwnwlwtu wpybuwmn QU Qu Und <|g(a)* 1 5 350
308 [FEnwulwnsnieiniu QU Qu Und <|g(a)* 2 6 350
309 [bbpwwpybunp ywwndneiniu b nbuniejniu UMS(p) Y MN(q) <g(aq)* 1 5 300




Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yuigh dwutwghwnipniup dpgntewihu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpdp
no ii ‘Umm. us hwq. n
23 [69NMU YHhihgwuh Jwutwéynin 3 4
310 [Yhpwnwlywu wpybuwn QU Qu Und |g(aq)* 3 4 300
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
24 (Quywnh yEwnmwwt hwiwuwpwu 27 3 418
311 {“GUuwpwuniE)ntu Ug)  [R(g)** Yud {a(q)* 25 270
()™
312 Upfuwphwagpniejniu U(qg) U(g)*™ a(q)* 25 270
313 |"Henwgnpdwlwu phdhw £(q) Y(q) ywd <g(a)* 35 270
(q)
314 [Mwwndnieint £4dM(g) [Ow(g) ywd| <q(g) 3 22 280
£M(a)
315 [Ppwydwghwnnieniu {1a(q) <dM(q) Owy(qg) 30 520
316 |[Kwyng |tqnt b gpwlwunip)niu <a(p) a(q) Owiq)*| 3 22 270
Yuwd
<dM(q)*
317 |Uugltiptu |Ggnt b gpwwunieiniu Uugy(p) Uugi(g) {19(q) 2 23 350
318 |Mnwwg |kgnt b gpwlwunte)niu Ma(p) M(q) {1g(q)* 2 23 270
319 Jwuywywpdnipinit b dbpnnhlw (nwppwlwi Yppenyejw) {g(q) U(g)*™ 3 22 280
320 |Shuwuuubp U(q) {la(q) Owy(qg) 3 1 27 360
321 [@bnuwnpynipniuuinh tnunbuwghwnieniu b Yunwdywpnid U(g) {la(q) Owy(q) 3 22 360
322 Kwowuwwhwlwu hwogwnnud (puwn §jnintiph) U(g) {la(q) Owy(qg) 3 1 27 360
323 [Pudbnpdwnphyw b hwoynnuwu inbiuthyw U(g) b(q)** <|g9(q)* 3 1 22 350
324 [Pwpunbquagpnieniu b unwuwnpwihu gnpd U(qg) U(g) a(q)* 35 270
325 [Puwwwhwwunieiniu U puoginwgnpdnid Ua) ()" Ywd <|1g9(q)* 25 270
(@)™
326 |Utipdhu(wnniphqd) U(g) ywd |  <a(q) Owy(q) 2 33 270
<dM(g)
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Owo- Pnthp, Cunniubjnpyw puunyeniutiipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dJwutiwghwnipniup dngnipwjhu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpdp
np ii ‘Umm. us hwq. n
25 [Gpbwup U. <Epugnt wujwt yEnwlwu pdrjulw 98 7 490
hwiwjuwpw
327 |Pnidwlwu gnpd (wupunhwun b hunbgpugywsd Yppwlywu b(q) L(q) U(q) Qa(q)* | 47 5 270 800
Opwantin)
328 |Uwnndwunninghw (wupunhww b hunbgpugywd Yppwlywu D(q) L(q) U(g) g(q)* 8 1 130 800
Opwantin)
329 |"Yenwghwnieniu D(q) £(q) U(q) {g(q)* 5 1 90 580
330 |Pnidwlywt gnpd ghywd nidipnud (wupunhwwn b hunbgpugywd b(q) £(q) U(g) a(q)* | 30
Uppwlwt dpwgntin)
331 |Pnidwlwu gnpd (wupunhww b hunbgpuwgyws Yppuwlwu b(qg) £(q) U(g) {a(g)* 8
opwgptip) (ML)

/6MPL nhdnpnubphu hpwyniup b YEpwwwhynud hpbug punpnigjudp hwudub) upwsd bpbip' «dhghlw», «2hdhw», «YGUuwpwunyeiniu» dpgniewihu puunteniuubinhg
Gpynwup/

Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dJwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
26 (Shghlywlwt Ynypnnipwyh hwjuyw wyEwnmwlwu htunpwmnwn 53 6| 12 477
332 |Lpwgpnipnit’ dwpqulw (pugpnn Uwuu DM <|g(a)* 33 360
333 |Dhghlwlwu Ynywnipw b uynpun Uwuu DM Lg(o)* | 50 6 12 374 360
334 |Shghywlwu Ynywnipw b uynpnn (ML) Uwul LDHM {1g(q)* 3
335 |Dhghywlwu Ynywnipw wnnnowlwu obinnud niutignn wudwug Uwuu LHM <g(aq)* 70 360
hwdwp (wnwwunwgywd dhghlwlwu Ynyunnipw b Yhubgninghw)
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Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnyejwu puunyeyniuutpp

dpgntewjhu ns dpgntewjhu

wuybwp

wyn. pynud

Yéwpnyh

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

Jwpép

np ii ‘Umm. us hwq. n

27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy 121 | 10| 24 1340
336 |Ugpniuuwpwuwlwu Jdwutwghwnnipyniuubp 23 11 105
s Ugpntyninghw U(g) Ywd [L(q)* Yuud {a(q)* 5 3° 30 340
4(9) H(@)™
s Ugpnundhw (wyn pyYnd’ 310103- wnnwpndniegniu b U(g) Ywd [£(q)** ud <|1g9(q)* 6 3° 30 340
fuwnnnwagnpdnieiniu Jwutwghwnwgdwdp) Y(q) YU(g)**
% Pnyubph ywowmwwuniegntu U(g) ywd [L(q)*™* Ywd g(a)* 6 2° 25 340
4(9) H(@)™
$ Hninwununbuwlwu dywlwpnyubph ublbyghw L gbubinplw U(g) Ywd [L(q)** ud <|g9(q)* 6 3° 20 340
4(9) H(@)*
337 |$ Uunwnwjht wnuwnbunenit b puwywywiptiph uuwswwwwnnd | U(g) Ywd |[L(q)** Yud <|19(q)* 4 3° 35 340
D(q) H(@)
338 ([Uuwutuwpnidwlwu pdrjughwnipiniu b wuwutwpnidww 18 1] 10 90
Jwutwghwnipiniuubp
% Luwutwpnidwlywl uwthnwpwlwu thnpdwpluntiniu U(g) Ywd [L(q)* Yuud <19(q)* 5 3° 25 340
4(9) H(@)™
% UUwulwpnidnip)niu U(g) Ywd [L(q)* Yuud <19(q)* 7 1 4° 40 340
4(9) H(@)™
s UUwutwpndnieyniu (wyn pynwd* 310202-Yuuwwnbfuuninghw U(g) Ywd [£(q)** ud <|1g9(q)* 6 3° 25 340
dwutwghunwgdwdp) U(q) YU(g)**
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Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnyejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu

ns dpgntewjhu

wuybwp

wyn. pynud

Yéwpnyh

Jwpép

np ii ‘Umm. us hwq. n

27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy 121 | 10| 24 1340
339 [Mwpbuwdpbpph wkluuninghwubph dJwutwghwnipyniuubp 37 3 280

$ Fninwununbuwlwu b ywpbuwht wpunwnpwuph U@  [2(a)* ud <19(q)* 2 15 370

thwebpwynpdwu wbuuninghw U nhquju Dd(q)*™

$ Fninwununtuwlwu hnwph bW wwpbuwdetipph U@  [2(a)* ud <|1g9(q)* 4 35 370

thnpdwpuunieinit, unwunwpuwgnd b ubpunh$hlwgnid Dd(q)*™

% udnpdwu wpunwnpniejniuutiph nbfuuninghw U ghubignpénipe)niu U@  [2(a)* ud <1gq(q)* 5 30 370
b(q)™

% Ywpeh U jwpuwdpbpph wbfuuninghw U(g) [L(aq)** Ywd a(q)* 4 30 370
(g

% 4woyh W dnpent wnblutuninghw U@  [2(a)* ud <1g9(q)* 3 20 370
d(q)™

% <wgh, hpnpwlybnbuh L dwlwpnuh wpunwnpwuph wnbluuninghw U@  [2(a)* ud <1g9(q)* 4 30 370
d(q)™

% AYwu U 4uwdpbppubph wbfuuninghw Ug) [L(aq)** Ywd <g(aq)* 3 30 370
d(q)™

% Uwulwlywu b $niuyghnuw uuunh inbfuuninghw U@  [2(a)* ud <1g9(q)* 4 1 30 370
(g™

% Uuh W duwdebpph wbiuuninghw U(g) [L(aq)** Ywd <g(aq)* 4 1 30 370
b(q)™

$ Mwhwdnjwgdwu W uutunwfunwujnietinh wnbjuuninghw U@  [2(a)* ud <|1g9(q)* 4 1 30 370
(g)*
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutwghwnnip)niup dpgniewhu ng dpgnipuwiht jwudswn|wyn eynwd | yéwpndh | uipap
np ii ‘Umm. us hwgq. n
27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy 121 | 10| 24 1340
340 |w) Ugpnuyyupbuwjh hwdwluwpgh munbuwghwnnipjut 8 1 320
dwutwghwnipyniuubp
Ugnpnphqubu U oniywjwpwtnieiniu U(g) <lg(q) Owy(q) 3 1 80 500
Ugpnwwpbuwjhtu hwdwlwnpgh hwoywwwhwwu hwojwnnd b U(g) {g9(q) Owi(q) 1 75 500
wntrhuin
Ugpnwwpbuwihu hwdwlwnpgh $puwtutbph unwywpnid U(g) a(g) Owi(q) 1 85 500
Uwwhnjwgpwywu gnpd (wgpnwwnpbuwht hwdwywpgh) U(g) {9(q) Owi(q) 1 45 450
<nnwagnypwjhu hwpwpbpnieniutbn U(g) a(g) Owi(q) 2 35 450
341 [p) Ugpnuupbuwjhu hwdwlwpgh munbuwghwnnyejwu 7 250
Jwutwghwnipiniuubp
Ugpwpwiht wpunwnpnipjwu Eynundhlw b Yunwywpnid U(q) Owj(g)** {a(q)* 1 60 450
Ugpwpwiht pwnwpwlwuntegintu b tnwpwdwonpowuh qupgugnid U(q) Owy(q)** <1g9(q)* 2 35 450
Ugpnwwpbuwihu hwdwlwnpgh funphpnwnynieyniu b U(g) Owj(g)** <1g9(q)* 2 35 450
inbinGYwunynientu
Uwpwupwghunnipintt b wwpwuph npwyh thnpdwpuuniejniu U(g) Owj(g)** a(q)* 1 60 450
(@ninwpunwinpuiiph b wwipuwdpebipph)
Uuunwpnniuwpbpnigjuwu Eynundpyw b Yuwnwywpnud U(q) Owj(g)** {a(q)* 1 60 450
342 |w) Ugpwpwjht hwdwYwpgh Swpnwpwghunnipjui 8 2 110
Jwutwghwnipiniuubp
<nnwohuwpwpniejnu W hnnwjht Yunwuwnn U(q) d(g)** <1g(a)* 3 1 50 400
Pnfuwnpnwiubph b dwuwwwphwihtu GppUbyniejwu U(g) b(q)** <|g(a)* 2 30 400
Ywgdwlbpunu b unwywpnid
Pnfuwnpndubph Yuqdwybpwnwiu nt junwywpnidu U(g) b(q)** <|g(a)* 3 1 30 400
wagnpnuwpbuwhtu hwdwlwnpgnwd
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
hp ii “Umm. us hwq. n
27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy 121 | 10| 24 1340

343 [p) Ugpwpwiht hwdwwpgh Gwpnwpwghnnypjuu 16 3 150
dwutwghwnipyniuubp
% Fyninwununbuwlywu dbpbuwubp W uwppwynpndubp U(g) b(q)** {1g(q)* 2 25 340
% Fninwununbunypeiwu biEYnphdhyughw b wynmndwunwgnid U(g) b(q)** {1g(q)* 2 20 340
% Fyniwununbunyeiwu dEpbuwjwgnid U(g) b(q)** <|g(a)* 4 1 35 340
$ YUtiluwgnpdniutinyejwt wuywnwugnieintt b wuywnwugnieniup U(q) S(g)** <19(q)* 3 1 30 340

wpunwlwpg hpwyhbwyubpnd
% <nnwpwpbjwynid, hnnwjht W 9pwiht wwowpubiph oguwgnpénwd|  U(qg) b(q)** <|g(a)* 5 1 40 340
L wwhwwuntd
o Lwwnwgywd nbintiphg 1-p twfuwwbuwsd & pwnpép [Gnuwiht wd uwhdwuwdbpd opowuubph nhdnpnubph bwywwnwlwihu punnbingejwu hwdwp

«%» Lojwd dwutwghwnienuutph wuybwp nwnigdwtu hwdwlwpgh dpgnyeht Ywpnn Gu dwutwlyglp wl wju nhdnpnutpp, ndpbp dwutwghwnieyniuutph b
puunieyniuutiph gwuynud  Gpynt wunmnwupotipny tpwé wnwplwutiph hwdwp npwbtiu dpgniypwiht guwhwwnwlwu punniutingeywu nhdnw-hwjunnud bwuwwbu hwjnwagpb)
tu dhouwlwpg Yppnigjwu wnbunmwnp jud hwdwwwunwufuwt wjwpnwlwu hwunweneh' win wnwplwubph ybnwlwu wjwpunwlwu puunyggniuubph
quwhwuwwywup, huy wenwywu wjwpnwlwu puuwlwu quuwhwnwlywuh pugwlwnyeuu nbwypnd’ tnwpblwu quwhwwnwlywup:

Jdbwpnyh nwnigdwt hwdwlwpgh punnwbinyejwu dpgnyeht dwutwygbint hwdwp, npwbu dpgnypwiht wnwpywubph guwhwwwywu, nhdnpnp Yupnn £ nhdnwd-hwjnnud
uwfuwwbu hwjnwgpb dJhouwlwpg Ypeniyejwt wnbunwnh Yud hwdwwwwnwufuwt wjwpunwlwu hwunweneh' win wnwpyuubph wbnwywu wjwpunwlwu
puunigniuubph quwhwwwlwup, huy wEnwlwu wjwpunwwu putwlwu guwhwwnwlwup pugwwnyejwu nbwpnd' nwpblwu quwhwwwlwup:

Upgnipwiht wnwpywubphg dhwutwlwu puunyeniu hwudunn nhdnpnutpp ogunynud Gu wnwetwhbipe punniuybiint wpwnnuniejniuhg:
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
28 |9nphup yEnmwlwiu hwdwuwpwu 18 192
344 Jwpbtdwwnhyw U(q) b(q)** {a(q)* 2 18 200
345 |Shghlyw d(q) U(g)** <g(aq)* 2 10 200
346 |“buuwpwunieintu Ug)  [R(g)** Yud <a(q)* 2 18 200
()™
347 [HYnwagnpdwywu phdhw L(q) [Y(g)"™* Yud |g(aq)* 2 18 280
()™
348 |Mwwndnieintu £4dM(g) [Ow(g) Ywd| <a(g) 2 25 280
£M(a)
349 Kwyng (tignt b gpulwunieniu {1g(p) {19(q) Ow|(q)* 2 25 220
Yuwd
<dM(q)*
350 [Uwuywywndnipiniu b dbpnnhlw {a(q) U(g)*™ 2 30 250
351 [Qtnuwpynipyniuiiph inunbuwghwiniegyniu bW Yunwywnpnud U(g) {la(q) Owy(qg) 2 28 300
352 [ElGywnpnuwiht wnbuuhyw U(g) b(q)** <g(aq)* 2 20 200
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh Jwubtiwghwnipyniup dngnLewht ns dngniewht jwudswpwn pYnwi | Jéwpndh | updp
ng ii ‘Umm. us hwq. n
29 ([Qwp-Nnuwyut (upwynuwlyw) hwdwpwpw (Cwjjulw 4 185
pwdwudniup)
353 |Pudnpdwnhlyw U Yppwnwlwt dwpbdwnhlyw U(q) S(g) Ywd 2 20 350
Owy(q)
354 |Sunbiuwghwnipjw nbuntp)ntu U(g) Owy(q) {1a(q) 5 500
355 [Hwnwywpnud (wn pYnud* whnwYwu U dniuhghww| Yuwnwdwpnid, U(g) Owy(q) {g(q) 1 20 500
(nghunhlw, Jwpnlwjhu nbunipuubph Junwywnpnid)
356 [bhuwuuubin (pwulwihu gnpd) U(g) Owy(q) {19(q) 1 25 500
357 Uhowqguwjht inunbuwlwu hwpwpbipnyejniuutip U(g) Owy(q) <la(q) 15 500
358 Kwoqwwwhwlwu hwownnid (puwn Gjninbiph, win pynud* wninhwn, U(g) Owy(q) {g(q) 15 500
inUnbuwghunwlwu Jbpindnie)niu)
359 [Cniljwjwpwunieiniu (Jwnpbphug) U(g) Owy(q) {1a(q) 15 500
360 [Utpyhu U(g) Ywd | Owy(q) {1a(q) 20 400
<dM(g)
361 [Ppwydwghwinnieniu {dM(q) Own|(q) {1a(q) 20 700
362 Rwnwpwaghwnnieintu <dM(q) Own|(q) {1a(q) 10 450
363 |Uhswggwjht hwpwpbipnieniuubp <dM(q) Owi(q) {|g(q) 10 560
364 |Lpwgnnupntu {1a(q) UU(q) RLU(p) 10 300
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
41 |phwup "Guénp” junwyjwpdwt hwdwpuwpw 200
365 [Ppwywghunnieniu {a(q) <dM(q) Owy(qg) 30 290
366 |Lpwgpnigjniu <la(q) UU(q) PLU(p) 25 290
367 |Uhowqgqwjht hwpwpbpniginiuttin <dM(q) {1a(q) Owy(qg) 30 290
368 [Kwyng |tiqnt b gpwlwunigyniu™** {1a(p) {1a(q) Ow|(q)* 20 290
comigy
369 [Owwn |bgnt b gpwlwuniegyniu (wug|tiptu) Uugy(p) Uug((q) {1a(q) 25 290
370 |[Gwpgdwuswywu gnpd*** Owy(p) Own|(q) {1a(q) 10 290
371 |Shuwuuubp U(q) <la(q) Owy(qg) 25 290
372 Kwoqwuwwhwlwu hwogwnnud (puwn Gjnintiph)*** U(g) {la(q) Owy(q) 10 290
373 hudnpdwwnhlw b hwoynnuwu nbfuuhyu*** U(q) S(g)** <g(aq)* 25 290
Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh Jwubtiwghwnipyniup dngntewht ns dngniewyht jwudswpwn pYnwi | Jéwpndh | updp
ro ii ‘Umm. us hwq. n
42 (Gpbwup "Gwihp" hwdwuwpwu 40
374 |Ppwywghwnnieniu {a(g) <dM(q) Owi(q) 20 220
375 |Lpwagpnipjntu {a(q) UU(q) RLU(p) 20 200
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii “Umm. us hwq. n
43 |U. Uypungwup wujwu Gplwiuph munbuwhpwjwqhmwyw 135
hwiwjuwpw
376 Kngbipwunipjniu {1a(q) Owy(q) Y(q)** 25 207
377 |Ppwywghwnnieintu <dM(q) {1a(q) Owy(qg) 30 207
378 |Uhowqgqwyht hwpwpbpniginiuttin {dM(q) {la(q) Owy(qg) 25 207
379 |0Owuwp tgnt b gpulwunieniu (wugtintu) Owy(p) Own|(q) {1a(q) 25 161
380 [bhuwuuubip U(g) {1a(q) Owy(qg) 30 161
Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dJwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii “Umm. us hwq. n
44 |phwuph "UDP" puwtvwlw whwnbdhw 90
381 [bhuwuutbip U(q) <la(q) Owy(qg) 30 300
382 Kwoywwwhwlwu hwaywnnid /pun dynintinh/ U(g) <la(q) Owy(qg) 30 300
383 [Stnblwwnywlywu nbjuuninghwubn U(g) S(g)** <g(aq)* 30 300
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp

ng ii ‘Umm. us hwq. n
45 |phwup "Cwypniuwly" hwdwuwpw 355
384 |pudnpdwnhlyw W hwoynnuwu inbluuhyu*** U(q) S(g)** |g(aq)* 10 200
385 [Kwyng |tigqnt b gpwlwunigyniu™** {1g(p) {la(q) Ow|(q)* 10 200

comigy

386 [Uhowqguwht hwpwpbpnyeniuutp <dM(q) {g(q) Owi(q) 25 200
387 |0Owuwp tignt b gpulwuneniu Owy(p) Own|(q) {1a(q) 25 200
388 [Uwuhwywndnipniu b dapnnhlw {1a(q) U(g)*™ 25 200
389 [Pnidwlwu gnpd £(q) b(q) Y(qg) <a(q)* 30 350
390 [Uwnndwwnninghw £(q) b(q) Y(qg) {a(q)* 30 350
391 [Henwghwnieniu £(q) b(q) YU(g) <19(q)* 30 350
392 |QGnuwpynipniuubinh tnuntuwghwnieniu b Yunwdwnpnid U(g) {la(q) Owy(q) 25 200
393 [Ppwywghunnieniu {1a(q) <dM(q) Owy(q) 25 200
394 Jwulwywndnieiniu b hngbipwunip)niu {a(q) Owy(q) Y(q)** 25 200
395 [Kwgntunh dnnbijwynpnid QU Qu Und <|1g9(q)* 30 200
396 [Mwnwywnnud U(g) {la(q) Owy(q) 30 200
397 [Yhquiju/gqbinwp/ QU Qu Und {1g(q)* 25 200
398 ([Gbnwulwpsnieniu®** QU Qu Und <g(aq)* 10 200

| «Pnidwwu gnpd», «Unndwwinninghw» b « Yanwghwngniu» dwutwghwunngegniuubiph nhdnpnubphtu hppwyniup | ybpwwwhynud hpbug punpnigjudp hwudub updws bpbp'
«bhghlyw», «Bhdhw», «YGUUWPpWUNLYEINLU» dpgnipw)hU putneiniuutiphg Gpyniup/
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii “Umm. us hwq. n
46 [|"Cwypnuwl” hwdwpuwpwup "Chpwlwgh" Jwutwénin 120
399 [Mwnwywpdwu nbnblwwndwlywi hwdwlwngbp** U(g) <la(q) Own|(q) 10 175
400 [rpwydwghwnnieniu {1a(q) <dM(q) Owy(q) 25 175
401 [Kwyng |tigqnt b gpwlwunieniu <g(p) {|g(q) Owy(q)* 25 175
Yud
<dM(q)*
402 |Owuwp (tgnt b gpulwuntegniu (wugtintiu) Uugy(p) Uug((q) {1a(q) 25 175
403 |dbnuwpynipniuubinh tnuntuwghwnieniu b Yunwdywnpnid U(g) {la(q) Owy(q) 25 175
404 Uwulywdwndnipjniu b dbpnnhlw*** {1a(q) U(g)*™ 10 175
Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
47 (Ujwunwlywt pdoynipjut hwdwuwpw 50
405 |Pnidwlwu gnnd £(q) b(q) Y(qg) <a(q)* 25 400
406 [Unndwwnninghw £(q) b(q) Y(qg) {a(q)* 25 400

/ Hhdnpnubphu hpwyniup b YEpwwwhynd hpbug punpnigjudp hwudub) upwsd bpbip' «dhghlw» «hdhw», «YGuuwpwunieiniu» dpgnipwihu puunyeniuutiphg tpynwup/
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Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnyejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu ns dpgntewjhu

wudswnwyn eynd | Jéwpndh | quipap

np ii ‘Umm. us hwq. n

48 |Gplwup "Ukubodbuph” hwdwuwpwu 50
407 |Ppwywghwnnieiniu {a(g) <dM(q) Owi(q) 25 200
408 [Unndwwnninghw £(q) b(q) Y(qg) {a(q)* 25 300

/ «Unndwwnninghw» dwutwghwnnyejwu nhdnpnubphu ppwyniup b yepwwwhynd hpbug punpnigjudp hwudub) upwd bpbip' «dhghlw», «Rhdhw», «YGuuwpwungyeniu»
dpgniew)hu puuniegniuutiphg Gpynup/

Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dJwutiwghwnieyniup dpgnipwh ny Ungniewiht jwdswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
49 |6plwup "nwwhuwihtu hwdwpuwpwu” 220
409 [Kngbipwuntpyniu*** {a(q) Owy(q) Y(q)** 20 200
410 [Ppwydwaghunnye)niu {a(g) <dM(q) Owi(q) 30 250
411 |Lpwgpnye)ntu {g9(q) UlU(q) RLU(p) 30 225
412 Kwjng (Ggnt b gpwlwuntpyniu®** <g(p) <la(q) Owy(q)* 20 200
comigy
413 |Ownuwp |Ggnt b gpwwunye)niu (wugtpbu, $pwuubpbu) Owy(p) Owy(q) {g(g) 30 225
414 Jwulwywndnieinu b dGennhlw <la(q) U(g)*™ 30 200
415 [Qtnuwpynigyniuiiph inunbuwghuniegyniu bW Yunwywnpnud U(g) {la(q) Owy(qg) 30 250
416 |Pudnpdwunpyw W hwoynnuwu nbluuhyw U(q) S(g)** <g(aq)* 30 225
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Owd- Pnthp, Cunniubijnyejwu puunyeyniuubipp Cunniubipnipyw wtin/wyn pynid| nudw
Yugh dwutiwghwnipyniup dpgnipw)hu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpdp
50 |6plwuh qtnkghYy wpybunubph wqquiht wwnbdhw 30
417 |"thquiyu /gbinwip/ Und QU qu <a(q)* 30 290
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
no ii “umm. us hwgq.
51 |"Upuppwp 9n2" hwj-nniuwluwu dhowqquiht hwdwjuwpwu 160
418 [Ppwydwghunye)niu <dM(q) Owy(q) {g(g) 20 200
419 |Owuwnp |tgnt b gpulwunieniu Owy(p) Own|(q) {1a(q) 30 200
420 Jwulwywndnieiniu b dbennhlw {1a(q) U(g)*™ 20 200
421 [Pnidwlwu gnpd™** £(q) d(q) U(q) <19(q)* 5 250
422 (Unndwwnninghw £(q) b(q) Y(qg) {a(q)* 20 250
423 [Hnwghunyeniu*** £(q) d(q) U(q) a(q)* 5 200
424 [“Ywnwywpnud U(g) <la(q) Owy(q) 20 200
425 [dhuwuuubp*** U(q) {9(q) Owi(q) 5 200
426 |Lpwgpniejniu®** a(g) UU(q) RLU(p) 5
427 [Uhowqgwiht hwpwpbpnyeniuubn*** <dM(q) {9(q) Owi(q) 5
428 |Kwyng |Ggnt b gpwwuntgniu®** 9(p) a(g) Ouwny(q)* 5
comigy
429 |4ndbpghw™** U(q) <19(q) Ouwy(q) °
430 |Uhswgguwjht wnunbuwlwu hwpwpbpnyejniuubp*** U(g) {g(q) Owi(q) S
431 Kwoywwwhwlwu hwoywnnwd (puwn dninbph)*** U(g) {g(q) Owi(q) S
432 [hubnpdwinplyw b hwoynnulwu nbuuhlu*** U(q) b(q)** <19(a)” S

[«Unndwwnninghw», «Pnidwlwu gnpd» U «Yanwghwnyegniu» dwutwghwnnyeniuubiph nhdnpnubphu hpwyniup £ yepwwwhynud hpbug punpnigjudp hwudub) upwd bpbip'
«bhghlyw», «Bhdhw», «YGUUWPpWUNLYEINLU» dpgnipw)hU putneiniuutiphg Gpyniup/
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Owd- Pnthp, Lunniubnipywu puunipyniutbkpp Cunniubinipjwt nbn/wyn pynid| nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
52 ["Uwpwhq" wpnwpht ntnbuwlwy uwybph hwdwpuwpwu 95
433 |Ppwywghunnieniu {a(q) <dM(q) Owy(qg) 25 187
434 Shuwuuubp U(q) <la(q) Owy(q) 25 187
435 Kwoywwwhwlwu hwagwnnid /pun dynintinh/ U(g) {1a(q) Owy(qg) 25 187
436 |pudnpdwnhlyw W hwoynnuwu inbluuhyu*** U(g) S(g)** <g(a)* 20 187
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbtin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
53 |Gplwup "Uquupe-Ytwnbpwt” nuunwywt hnpéwghnnipjut b 25
hngbpwuniejwu huunhwnin
437 |Ppwywghwnnieintu {dM(q) {la(q) Owy(qg) 25 228
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
54 |6Yypwuhw dhowqquiht hwiwuwpwu 105
438 [hpwywghunnieniu {a(q) <dM(q) Owy(qg) 20 320
439 |Ownuwp |Ggnt b gpwwunyeiniu (wugtpbu, pwuubptu, Owj(p) Owy(q) {g(g) 25 320
gLipdwubipbu)
440 [Mwnwywnnud U(g) <la(q) Owy(qg) 20 320
441 \Shuwtuubp™* U(q) <la(q) Owy(qg) 10 320
442 [Lpwgpngyniu*** {g9(q) UU(q) RLU(p) 10 320
443 Jwulhwywnpdniginiu b hngbipwuntpjni™** <lg(q) Owy(q) Y(g)** 10 320
444 {HYwnwywpdwu nbntlwnjwlwu hwdwlywpgbp™** U(q) <la(q) Own|(q) 10 320

ndwU Jwpdh wpunnunyeyniuttn
50% qbtins' Unpgnipwhu btpbp puuniegniupg 54 L wybih dhwynp niubgnn nhdnpnubpp
25% qbins' Upgnypwihu tpbip puunyeiniuhg 42-53 dhwynp niubgnn nhdnpnubpp

Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dJwutiwghwnipniup dpgnipwihu ng Ungnipwiht widSwp{wn eYnu | Jéwpnyh | Jupép
ro ii ‘Umm. us hwq. n
55 |Gplwuh "Punbphugu” |tqyughnwyuu hwdwuwpwu 40
445 0wnuwp [gnt b gpwlwunipiniu (wug bntu) Owy(p) Own|(q) {1a(q) 20 260
446 |(Gwpgdwuswlwlu gnpd Owni(p) Own|(q) {1a(q) 20 260
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uwn.

Owd- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
pp ii “Umm. us hwq. n
56 |Gplwuhp "Utwuhw Shpwlwgh" dhowqqujht 100
hwpwpbpniyeiniuubph hwdwjuwpwu
447 |Ppwywghwnnieniu {g9(q) <dM(q) Owi(q) 25 200
448 |Lpwagpniejniu {g9(q) UU(q) RLU(p) 25 180
449 |0wnuwp |Ggnt b gpwwunyeniu (wugtptu, gbpdwubipbu) Owy(p) Owy(q) {g(g) 25 180
450 |Uhowqggqwiht nnunbuwlwu hwpwpbipnieniutbn U(g) {la(q) Owy(q) 25 200
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbtin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntew)hu ny Ungniewiht jwdswp(wn pYnw | Yéwpndh | updp
pp ii “Umm. us hwq. n
57 |Gpbwup gnpéuwlwu hnqbpwunipjuwu b unghninghwjp 50
"Nipwpunnt” hwdwjuwpw
451 Kngbtipwunipniu {1a(q) Owy(q) Y(q)** 30 220
452 {Unghwjwywl woluwwnwup™** <la(q) Owy(q) U(q)* 20 220
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbtin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
pp us

hwq. n

58 |Kpwqnwuh hnidwuhwnwp huunpwnnin 90

453 [Ppwywghunnieniu {a(q) {dM(q) Owy(q) 25 200

454 Kwjng agnt b gpwlwuntpniu™** {1g(p) {la(q) Ow|(q)* 15 160
comigy

455 Jwulwywndnieiniu b dbennhlw {1a(q) U(g)*™ 25 180

456 |Shuwuuubp U(q) <la(q) Owy(q) 25 190




Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnyejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgniew)hu

ns dpgntewjhu

wuybwp

wyn. pynud

Yéwpnyh

Jwpép

np ii ‘Umm. us hwgq. n

59 |6plwup Ubupny Uwyinngh wujwt hwdwjuwpw 200
457 |Ppwywghwnnye)ntu {a(g) <dM(q) Owi(q) 25 200
458 Kwjng |tignt b gpwlwunieniu <g(p) <lg(q) Owy(q)* 25 180
comigy
459 |0Owuwp (tignt b gpulwunigyniu (bpwtiutipu) dny(p) dni(q) <la(q) 25 200
460 [Uwuywywndnipiniu U hngbpwuniegniu {a(q) Owy(q) Y(q)** 25 200
461 [Uwulywywndnipiniu b dbpnnhlw {1a(q) U(g)*™ 25 125
462 |thquwyju (gbinwin) Und QU Qu <|g(a)* 25 200
463 Kwoywwwhwlwu hwagwnnid /pun dynintinh/ U(g) {la(q) Owy(qg) 25 200
464 Utinyhu (wintphqu) U(q) ywd | <a(q) Owy(q) 25 200
<dMN(g)
Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh Jwutwghwnipniup dngniewiht ng Ungniewiht jwudbwp(wn pYnw | Jéwpndh | updp

np ii ‘Umm. us hwgq. n

60 |Gplwuh qynipununbuwyu hwiwuwpwu 100
465 |[Ppwywghunnieniu {1a(q) <dM(q) Owy(q) 20 240
466 [Dhuwuuubin U(a) da(@) | Owyq) 20 240
467 Uuwulwpnidwlwl uwuhnwpwlwu thnpdwptlniegnu U(g) Ywd [L(q)* Yuud {a(q)* 25 200
4(q) H(@)™
468 [Kwgh, hpnpwytintuh W dwywpnuh wpunwnpnygjwu wnbfuuninghw U@  [2(a)* ud <|1g9(q)* 25 200
()™
469 |Hhquwiju (gbnuip)*** Und QU Qu <g(aq)* 10 200
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dJwutwghwnipyniup dngniewiht ny Ungniewiht jwudswn(win pYnw | Yéwpndh | Juipap*
L uwun. us
61 |6plwuph Unjubu lunpbuwgnt wujwu hwdwjuwpwu 175
470 |hubnpdwunphlw U Yhpwnwywu dwebdwnhlw U(q) b(q)** {a(q)* 25 4,2
471 [Ppwywghwinnieintu {g(q) {dMN(q) Owy(g) 30 4,4
472 [Kwyng |tiqnt b gpwlwuniegniu <g(p) <la(q) Owy(q)* 30 4,2
comigy
473 |Ownuwp [Ggnt b gpwlwunipiniu Owy(p) Own|(q) {1a(q) 30 4,2
474 |Uwulwywnpdniegniu b dapnnhlw <la(q) U(g)*™ 30 3
475 |Uhowqguwiht inunbuwlwu hwpwpbipnigyniuutin U(g) <la(q) Owy(qg) 30 4,4

* L ujwqugnyu wduwlwu woluwwnwywpdh wywwnhyp

Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dJwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
62 |"3n1 ku b k" hwdwpuwpw 80
476 hpwdwghwnnieintu {a(g) <dM(q) Owi(q) 20 580
477 [Lpwgpnieintu {1a(q) UU(q) RLU(p) 20 580
478 |0wuwp tgnt b gpulwuniegniu (wugtintiu) Uugy(p) Uugy(a) <la(q) 20 580
479 [Sunbiuwghwnniejwl nbunignu™** U(g) <la(q) Owy(q) 20 580
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Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n

63 |dwpnbupuh dwulwyjwpdwlwu huumpwnnwn 75

480 [Nwuwndnieintu <dM(g) [Ow(g) Ywd {a(q)* 25 140

CN(q)
481 [Kwyng |tiqnt b gpwlwuniegniu {1a(p) {19(q) Ow|(q)* 25 140
Ywd
<dM(q)*

482 Jwulwywndnieintu b dbennhlw {1a(q) U(g)*™ 25 140
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbtin/wyn pynudl nrudw
Yugh dwutwghwnnip)niup dpgnipwihu ng dpgnipuwiht jwudswn|wyn eynw | déwpndh | quipap

Uwn. us hwq. n

64 [Cwjjulwu pdrjulwu huunmhwmnin 60

483 |Pnidwlwu gnnd £(q) b(q) Y(qg) {a(q)* 30 350

484 |Unndwwnninghw £(q) b(q) Y(qg) <a(q)* 30 350
/ hdnpnubphu hpwyniup b YEpwwwhynd hpbug punpnigjudp hwudub) upwd bpbp' «dhghlw», «Rhdhw», «YGuuwpwunieginiu» dpgnipwihu puunyejniuutiphg tpynwup/
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbkin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dpgnipw)hu ns dngnipwht fwudswp|wn pynwd | Jéwpndh | ywpdp

Uwwn. us hwq. n

65 [|"Ujniupp" htummhwinun 60
485 |[Ppwywghwinieniu {a(q) <dM(q) Owy(q) 30 200
486 [bhuwuuubin U(q) <la(q) Owy(q) 30 200




Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
66 |%ynuiphh "Mpngpbiu” hwdwuwpw 270
487 |4tuuwphdhw Yg) ()™ Yuu {a(q)* 30 175
(@)
488 [Knqbipwunipniu {1a(q) Owy(q) Y(q)** 30 175
489 [hpwywghwnieniu {1a(q) <dM(q) Owy(qg) 30 195
490 (Lpwgpnueniu UU(q) <la(q) RLU(p) 30 175
491 Kwyjng |tigqnt b gpulwuneniu <g(p) <lg(q) Owy(q)* 25 175
comigy
492 0Ownuwp (tgnt b gpwlwunipiniu Owy(p) Own|(q) {1a(q) 30 175
493 Jwulwywndnieiniu b dbennhlw {a(q) U(g)*™ 25 175
494 Unndwwnninghw*** £(q) b(q) Y(qg) {a(q)* 20 220
495 |Hhquwiju (gbnup)*** Und QU Qu <|g(a)* 20 175
496 |Shuwuuubp U(q) <la(q) Owy(qg) 30 195

/ «Unndwunninghw» dwutwghwnnyejwu nhdnpnubphu ppwyniup b yEpwwwhynud hpbug punpnigjudp hwudub) upwd bpbip' «dDhghlw», «Rhdhw», «YGuuwpwungyeniu»

dpgntew)hu puuniegniuubiphg Gpynup/

Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnyejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu ns dpgntewjhu

wuyGwp{win pynd | déwpndh | Jupép

np ii ‘Umm. us hwq. n

67 |Gpbwup $huwtiuwpwiuywihtt b ppnpuwwyuw hwlwuwpwu 40
497 hpwydwghwnnientu {a(g) <dM(q) Owi(q) 20 180
498 [bhuwuuubip U(q) <la(q) Owy(q) 20 180
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dJwutiwghwnipniup dpgnipwihu ng Ungnipwiht widSwp{wn eynu | Jéwpnyh | updp
ro ii ‘Umm. us hwq. n
69 |[KEnnunmwwbunipjwtu b nwnhnjh wlwnbdhw 60
501 [Lpwgpnigyniu™** <lg(q) UU(q) RLU(p) 20 280
502 |Ndhunipu*** M4 [ad(gnpdu)l  <wpg {a(q)* 20 280
503 [Owbpwwnpnigyniu®** L<L(p) Ud(p) <|g(a)* 20 280
Yywd
0N (p)
Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dJwutiwghwnipyniup dpgnipwihl ns Ungniewht {wuybwp win eYnd | Jéwpndh | Jupdp
ne ii ‘Umm. us hwq.
70 |Gplwup "Uwug" hwiwjuwpw 85
504 |pudnpdwnhlyw U Yppwnwlwt dwpbdwnhlyuw*** U(q) S(g)** <|g(a)* 10
505 [hpwydwghwinieniu {a(q) <dM(q) Owy(qg) 25 300
506 [Owwn |bgnt b gpwlwunigyniu™* Owy(p) Owy(q) {1a(q) 10 200
507 |[Gwpgdwuswywu gnpd*** Owy(p) Own|(q) {1a(q) 10 200
508 [bhuwuuubip*** U(g) {la(q) Owy(qg) 15 200
509 [Qtnuwpynigyniutiiph inunbuwghwniegyniu b Yunwywpnu*** U(g) {la(q) Owy(qg) 15 200
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
71 [Gplwup JawYynyph hwdwuwpwu 60
510 [Nwpwpybumn*** Muwp pM |g(aq)* 15 200
511 [Gpwdranwlwu wpybun/Snpdhpwiht Yuwnwpnnwlwunigniu/*** oY U(g) {(q) <g(aq)* 10 200
512 [Gpwdanwywu wpybun/Ynlw wpybuwn/*** oYy U(g) 5SS(q) <|g(a)* 10 200
513 |"Hhquwiju (gbinwin) Und QU Qu <g(a)* 25 200
Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ng ii “Umm. us hwq. n
72 |6puwup "Unipp @Epbquih wujwtu hwdwuwpwu” 55
514 [Unndwwnninghw £(q) b(q) Y(qg) <a(q)* 20 300
515 [Mwnwywnpnud U(g) <la(q) Owy(qg) 20 250
516 [Pubnpdwunpyw b hwoynnuiywu inbluuhlw*** U(q) S(g)** <g(aq)* 15 200

/«Unndwwnninghw», «Pnidwlwu gnpd» b «Yanwagnpdnieniu» dwutuwghwnipniuubph nhdnpnubphu ppwyniup b Jbpwwwhynd hpbug punpnigjudp hwudub) upwd bpbip'
«bhghlyw», «Bhdhw», «YGUUWPpWUNLYEINLU» dpgnipw)hU putneiniuutiphg Gpyniup/

54



Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwq. n

73 |nkquwanpp "Ghuinbhp" hwdwpuwpwu hhpduwnpwd 225

517 [Mwuwndnipyniu*** {dMN(q) [Ow(gq) Ywd| <ja(g) 20

£M(a)
518 [Ppwdwghuinnieyniu*** Qa(@) | <dMN(q) | Owyfq) 20
519 [Kwjng |Ggnt b gpwwunigniu™** {g(p) {g9(q) Ouwny(q)* 20
comigy

520 |Owwp |kgnt b gpwywunieiniu (wugtipbu |Ggne)*** Owj(p) Owi(q) {g(g) 20

521 [dhghywywu Ynyunnipw b uynpuin*** Uwuu AN <19(q)* 20

522 |Mnwwg |Ggnt b gpwywunteyniu™** Ma(p) M(q) {1g(q)* 20

523 [hudnpdwnhlw (nbnGYwpwuntgniu)*** U(g) S(g)** |g(aq)* 20

524 [4bpwwpybuwnn b gdwgpnieniu®** QU Qu <g(aq)* 20

525 Uwuywywndnyeniu b hngbipwuntgyniu*** {g9(q) Owi(q) YU(q)** 15

526 |Uwulwywpdnieiniu b dbpnnhljuw®** {g9(q) U(q)** 15

527 [bhuwutbp®* U(a) <14(q) Owy(q) 20

528 |pudnpdwnhlyw W hwoynnuwu nbluuhyu*** U(g) b(q)** {1g(q)* 15
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
74 |Eodphwéup "Aphgnp Lniuwynphs" hwdwjuwpw 125
529 |hpwywghwnnipyniu*** {a(q) <dM(q) Owy(qg) 20 250
530 [Owwn |bgnt b gpwlwunigyniu™** Owy(p) Own|(q) {1a(q) 20 200
531 [Uwulywywndnipiniu b hngbipwungyniu*** {1a(q) Owy(q) Y(q)** 20 200
532 Jwulhwywpdniginiu b dGennhlu* {a(q) U(g)*™ 20 200
533 |[bhuwuuubp™** U(g) {1a(q) Owy(qg) 20 200
534 Kwoywwwhwlwu hwagwnnid /pun dynintinh/ U(g) {la(q) Owy(qg) 25 200
Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh Jwutiwghwnipyniup Jpgnipwjhu ng Ungniewht {wuybwpwin eYnd | Jéwpndh | updp
np ii ‘Umm. us hwgq. n
76 |UGhpwpjwuh wujwt pdrjwlw huumpwnnwn 40
540 |Unndwwninghw*** £(q) b(q) Y(qg) {a(q)* 20 280
541 |"Henwghwnigyniu®** £(q) d(q) U(q) a(q)* 20 250

/YHhdnpnubiphu hpwyniup b Ypwwwhynud hpbug punpnigjudp hwudub) upwd bpbip' «dhghlw», «Rhdhw», «YGuuwpwunyeniu» dpgniewihu puuniegyniuubiphg Gpynwup/
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
77 |5ypnywlw Yppwljwt mwpwswpowuwihtu wwnbtdhw 15 689
hpduwnpwyd
542 [Pubnpdwwnplw b Yhpwnwwt dwebdwnhlw b(q) Ywd U(g) <g(aq)* 60 480
Owy(q)
543 |Ppwywghwnnieiniu Owi(q) <dM(q) a(q)* 3 80 540
544 (Uhowqquhtu hwpwpbnpnigjniuttn Owi(q) <dM(q) a(q)* 2 70 480
545 [Lbqwpwunipiniu Owy(p) Owy(q) <19(q)* 1 68 450
546 Jwulwywndnieiniu b hngbipwunip)niu <dM(q) {g(q) Owy(q)* 53 450
547 (Unghw-dawyniew)htu gnpdubinie)niu Owi(q) U(g) <|g(a)* 40 450
548 [Mwnwywnnid Owy(q) U(g) {a(q)* 3 68 480
549 |Uhswqggqwjht wnuwnbuwlwu hwpwpbpnyejniuubp Owi(q) U(g) a(q)* 2 70 480
550 [StnGlwwnywlywu nbjuuninghwubn S(g) Ywd U(g) <|g(a)* 3 90 480
Owy(q)
551 |Utipghu Owi(q) | UWg) Ywd {a(q)* 1 90 450
<dM(g)
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwq. n
78 [6USU Gynuipph Jwutwéynin 9
552 [hudbnpdwwnhyw b Yhpwnwlwt dwetidwnhlw b(q) Ywd U(g) <|19(q)* 1 360
Owy(9)
553 |Ppwywghwnieiniu Owi(q) <dM(q) <g(aq)* 1 360
554 (Uhowqgguwjhu hwpwpbnniginiuttn Owi(q) <dMN(q) a(q)* 1 360
555 |LEqupwunyeniu Ouwni(p) Owy(q) <g(q)* 1 360
556 [Uwulwywpdnieginiu b hngbpwuntegniu {dMN(q) {g(q) Ouwn(q)* 1 360
557 Unghwij-dowynipwiht gnpdniubiniegintu Owi(q) U(qg) <|g(a)* 1 360
558 Mwnwywpnud Own|(q) U(q) <la(q)” 1 360
559 [Uhowqgquwjht inunbuwywu hwpwpbpnyejniuutn Owy(q) U(q) <1g9(q)* 1 360
560 [Stnblwwnywlywu inbjuuninghwubn S(g) Ywd U(g) |g(aq)* 1 360
Owy(9)
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Owo- Pnthp, Cunniubjnpyw puunyeniutiipp Cunniubimpywt wnkn/wyn pyYnud nuudw
Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
nt ii ‘Umm. us hwgq.
79 |6USU Ywuwdénph dwutwéjnin 8
561 [pubnpdwwnhlw b Yyhpwnwlwt dwpbidwnhlyw b(q) Yuu U(g) {a(q)* 1 360
Owy(q)

562 |Ppwywghwnnieiniu Owi(q) <dM(q) a(q)* 1 360

563 |Lbqwpwunigniu Owni(p) Ow(q) <la(q)” 1 360

564 [Uwulywywpdnipnit b hngGpwunip)niu <dMN(q) {la(q) Owy(g)* 1 360

565 |Unghwi-downipwihtu gnpdniubnie)niu Owi(q) U(g) <g(aq)* 1 360

566 Mwnwywpnd Own|(q) U(q) <la(q)” 1 360

567 |Uhswgguwjht hwpwpbipnieniuutbp Owi(q) <dM(q) <g(a)* 1 360

568 [Stntlwwnywywu nbjuuninghwubn S(g) Ywd U(g) |g(aq)* 1 360

Owy(q)

569 [Uhowqgwjht inunbuwlwu hwpwpbipnieniutbn Owy(q) U(g) {a(q)* 360
Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynudl nwudw
Yugh dwuuwghwnipyniup dpgnipwihu ns Upgniewiht fwuySwp| wyn eynd | Yéwpndh | qupép
np ii ‘Umm. us hwq. n

80 (6USU Gwywnh Jwutiwéjnin

570 |StnGhwwnywlwu nbfuuninghwubn b(q) Ywd U(g) {a(q)* 360

Owy(q)

571 hpwdwghwnnieniu Owi(q) <dM(q) a(q)* 360

572 |LEqupwunipiniu Ouwni(p) Owy(q) <g(q)* 360

573 [Uwulwywndnipiniu b hngbipwunieniu <dMN(q) {la(q) Ow|(g)* 360

574 (Unghw-dawyniewjhu gnpdniubinyeniu Owi(q) U(g) <|g(a)* 360

575 [Uhowqgquwiht tnunbuwlwu hwpwpbipniggniuutin Owy(q) U(g) <19(q)* 360
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Owé- Pnthp, Cunniubiniypjw putunipyniutipp Cunniubnipywt wkn/wyn pynud nwudw

Yugh dwutiwghwnieyniup dpgnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
81 |6USU houwuh dwutwéjnin
576 |StnGywwnywlwu wnbfuuninghwubn b(q) Ywd U(g) {a(q)* 360
Owy(q)
577 |Ppwywghwnnye)ntu Owi(q) <dM(q) a(q)* 360
578 |Lbqwpwunigniu Owni(p) Ow(q) <la(q)” 360
579 |Uwulywywpdnipnit b hngGpwunipjniu <dMN(q) {la(q) Owy(g)* 360
580 [Unghw-dawyniewjhtu gnpdniubinyeniu Owi(q) U(g) <g(aq)* 360
581 [Uhowqgujht inunbuwlwl hwpwpbpniginiuttin Owy(q) U(g) <a(q)* 360

***_ ng whwnmwlwu pnthh shwjwinwnpdwgnywd dwutiwghwnniintu
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